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Section type: Online
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Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 998367467
Question Shuffling Allowed : Yes

Question Number : 1 Question Id : 9983677437 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

There is a certain relationship between two given words on one side of : : and one word is given on another side of : :
while another word is to be found from the given alternatives, having the same relation with the word as the words of
the given pair.

Choose the correct alternative.

Won : Korea : : Mark: ?
Options:
1. ¢ Germany

? % Ruble

3 % Sweden

/. % Burma

Question Number : 1 Question Id : 9983677437 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. v =T



Question Number : 2 Question Id : 9983677438 Question Type: MCQ Option Shuffling : Yes

Correct Marks: 1 Wrong Marks: 0.25

There is a certain relationship between two given numbers on one side of : : and one number is given on another side of
: : while another number is to be found from the given alternatives, having the same relation with the number as the
number of the given pair.

Choose the correct alternative.
24:144 ::52:7?
Options:

1. = 242

P % 324

A v 676

Question Number : 2 Question Id : 9983677438 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
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1. = 242

2« 324
3 % 452
4. » 676

Question Number : 3 Question Id : 9983677439 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

A group of three interrelated word is given. Choose a word from the given alternatives that is similar to the given words
and hence belongs to the same group.

Nairobi : Athens : Cairo
Options:

1. + Vienna

? % Denmark

3 % Spain

/. % Krona

Question Number : 3 Question Id : 9983677439 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 4 Question Id : 9983677440 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

A group of three interrelated numbers is given. Choose a numbers from the given alternatives that is similar to the given
numbers and hence belongs to the same group.

385:473:143
Options:

1. = 180

[
LA
%]

2.

Question Number : 4 Question Id : 9983677440 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
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385 : 473 : 143
Options:



1. =« 180

2. v 253
3 % 270
4« 221

Question Number : 5 Question Id : 9983677441 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following is the same as Taxonomy, Selennography and Pedology?
Options:
1. « Eccrinology

7w Virus

3. % Moon

/. % Skull

Question Number : 5 Question Id : 9983677441 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:
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Question Number : 6 Question Id : 9983677442 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

Four pairs of words are given out of which the words in three pairs bear a certain common relationship. Choose the pair
in which the words are differently related.

Options:
1. ® Fan—Blade

? % Book— Chapter

3.« Circle — Cube

4. % Pen—Nib

Question Number : 6 Question Id : 9983677442 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A TR weg ®Ag U AT §, eH & JF oeg @eg 9w A R o e ade & wefua B aw A
Y AT TS T 9eg WG H [aeed g+

Options:

1. = UT - (s08)

2. - W-H‘?;&Tﬂ'



3. v Td-E=

Question Number : 7 Question Id : 9983677443 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of the following Venn diagrams depicts the correct relation between:

Snakes, King Cobra and Russell’s Viper

Options:




©

4. =

Question Number : 7 Question Id : 9983677443 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 8 Question Id : 9983677444 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25

My school is in the East of my house, Temple is North of my house and Market is South of my house and Post office is
West of my house. If all are at equal distance from my house, in which direction the School is with respect to the Post
office?

Options:

1. + East
? % North
3 % South

A = West

Question Number : 8 Question Id : 9983677444 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 9 Question Id : 9983677445 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Sachin, Sahil, Sandhya, Sani, Sanju. Saurabh, Shweta and Sunil are sitting around a round table in the same order for
lunch at equal distance. Their positions are Anti-clockwise. If Sandhya sits facing South, then in which direction Sunil
is facing?

Options:
1. # North - East

? « North — West
3. % South—East

/% South - West

Question Number : 9 Question Id : 9983677445 Question Type: MCQ Option Shuffling : Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1.« -1

.Y

2. v 3ok - 9i¥EA



Question Number : 10 Question Id : 9983677446 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The sheet of paper in fig X is folded to form a cube. Which will come opposite to face showing ¢))’?

&

= | B}

+ %
*
X
Options:
1 & &
2. *
3% +
4. % %

Question Number : 10 Question Id : 9983677446 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 11 Question Id : 9983677447 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Children A, B. C.D. E, F and G are standing in a line. F is to the left of A and right of B. D is between G and B. E is
standing left of C and G is right of C. Who is standing at the middle?

Options:
1. = C



4, « D

Question Number : 11 Question Id : 9983677447 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AB,C.DEF3IRGTAFFaR AT LI F, AFTE 3N I B F g alv@er 21 D, G 3
BHEfaF T I E, CFavasr kG CFaw wsr gl 795 §9 7 #i7 @7 7

Options:

1. = C
2. % A
3. = E
4, v D

Question Number : 12 Question Id : 9983677448 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Harmeet has kept four of her puzzle books in the cupboard between two bookends. She one day thinks of re-arranging
the four books in all possible combinations. The time taken to move one book was one minute, how many minutes will
Harmeet take to complete all possible combinations?

Options:

1. % 15 mins

7 % 20 mins

3« 24 mins

4. % 30 mins



Question Number : 12 Question Id : 9983677448 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1. = 15 e
D % 20 RAee
3. v 24 @ee
4. % 30 Bee

Question Number : 13 Question Id : 9983677449 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

L. Doby is sister of John and John is brother of Shreva.
II. Shreya is daughter Jones and sister of Jani.
III.  John is brother of Jani.

If the first two statements are true, the third statement is:
Options:

1. « Tme

? % False

3 x May be true

4. % Uncertain



Question Number : 13 Question Id : 9983677449 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 14 Question Id : 9983677450 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Anas, Bipin, Chandan, Dev, Easa and Fatima are friends. No two friends are of the same age, but all have birthdays on
the same date. The youngest is 23 years old and the oldest is 28 years. Easa is somewhere between Chandan and Anas.
Dev is older than Bipin. Fatima is older than Chandan. Anas is oldest and Chandan is youngest among all. If Fatima is
younger than Bipin. Bipin is younger than Easa. Dev is older than Easa.

Which of the following is false?
Options:
1. » Bipinis 25 years old

9 w [Easais 26 years old

3  Devis 23 years old



/. » Fatimais 24 years old

Question Number : 14 Question Id : 9983677450 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:

1 « R Hrsm25awd

2 FHTEN 3H 26 WA g

3. v THIHF22FAE

4.« WITGAT H 387 24 T g

Question Number : 15 Question Id : 9983677451 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What will be the mirror image of

Options:



2. % .
3. % .
4. v .

Question Number : 15 Question Id : 9983677451 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Options:



Question Number : 16 Question Id : 9983677452 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Following are the criteria to recruit a Teacher in a college:
[.  The Applicant must be science graduate with 75% marks.
II.  Have his/her age in between 25 to 32 years as on 10-05-2019.
III. Have a PG degree/ 3 years diploma or must have completed B.Ed. with more than 65% marks.
IV. Have minimum 3 years’ experience in Teaching.
V.  Beready to join 2 year probation.
If a candidate satisfies all the criteria except

i. at ITI above, but is an Arts with Mathematics graduate with minimum 72% marks and has an experience of more
than 5 years and more her/his case is to be referred to the Vice President.

ii.  AtIV above, but master degrees with minimum 60% marks, her/his is to be referred to the President.

A detail of applicant is given below in the questions. On the basis of the following decision which is based on the data
given above, mark the answer.

I. Sabih is a B.Sc. Graduate with 80% marks and has completed PG in Mathematics with 59% marks. He

completed 28 years of age in 2018 and has 5 years’ experience as a Mathematics Faculty. He is ready to join
probation period of 2 year.

Options:

1. = If case is to be referred to President.

? % If case is to be referred to Vice President.

3. « If candidate is to be selected.

/] w If candidate is not to be selected.



Question Number : 16 Question Id : 9983677452 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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3. » 38 st # o G s
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Question Number : 17 Question Id : 9983677453 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Following are qualifications for a technical assistant post in company Alpha.

The candidate must:-
L Be an Engineering graduate with atleast 70% marks.
IL. Not less than 23 years and not more than 30 years of age on 1.7.2019.
III.  Have passed the selection test with atleast 60% marks.

IV. Willing to join immediate for training and ready to pay a deposit of T 20000, to be refunded on
completion of training.

However, if a candidate fulfils the above mentioned criteria except :

i. At (I) above, but he has appeared for the last semester examination and obtained an aggregate of 65% marks
in previous semester, his/her case may be referred to the V.P. of the company.

ii. At (II) his/her age is less than 23 years but he secured 80% marks in graduation, the case may be referred to
the General Manager of the company.

The detail of the candidate is given as regards his/her candidature. You have to read the information provided and
decide his/her status based on the conditions given above.

Rahim is an I'T engineer passed his graduation with 80% marks. After getting the engineering degree he has
done MCA. He has cleared the selection test with 70% marks.

He is ready to deposit above said amount and want to join immediately. His date of birth is 2.10.1995.

Options:

1. « If the candidate is to be selected.
7 % If the candidate is not selected.

3. % Ifthe case is referred to the V. P.

/. » Ifthe case is referred to the General Manager.



Question Number : 17 Question Id : 9983677453 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 18 Question Id : 9983677454 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

The statement given below is followed by two decisions labeled I, and II. You have to assume everything in the
statement to be true, and then decide which of the two suggested decisions logically follows for pursuing.

Statement: Without active cooperation between officers and office staffs of the company, it cannot remain profitable to
run business from this office.

Decisions:

I: The office should be trained to cooperate officers.
II: The office staff should be suspended.

Options:
1. « OnlyIfollows

? % BothIand II follow

3. % Neither I nor II follow

/. % OnlyII follows

Question Number : 18 Question Id : 9983677454 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 19 Question Id : 9983677455 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The statement given below is followed by two decisions labeled I, and II. You have to assume everything in the
statement to be true, and then decide which of the two suggested decisions logically follows for pursuing.

Statement: People living in rural areas are far from education and health awareness.
Decisions:
I: New schools and college should be open in these areas.

II: A mass awareness program must be initiated in these areas.
Options:
1. » OnlylI follows

7 « BothI and II follow



3. % Either I or II follow

4. » OnlyII follows

Question Number : 19 Question Id : 9983677455 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 20 Question Id : 9983677456 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The statement given below is followed by two decisions labeled I. and II. You have to assume everything in the
statement to be true. and then decide which of the two suggested decisions logically follows for pursuing.

Statement: The ground water level is decreasing day by day and creating big water problem in many parts of India.
Decisions:
I: All the concern authority should interfere in this matter to resolve issue.

II: Government should ban water harvesting.



Options:
1. « OnlyIfollows

? % BothIandII follow

3. = Either I or II follow

4. » OnlylII follows

Question Number : 20 Question Id : 9983677456 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Question Number : 21 Question Id : 9983677457 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How many triangles are in the figure?

Options:



Question Number : 21 Question Id : 9983677457 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e ampfa & fore e 2

Options:

1. = 20
2 % 22
3 x 21



Question Number : 22 Question Id : 9983677458 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Given below is a statement followed by three courses of action numbered I. IT and III. You have to assume everything in
the statement to be true and on the basis of the information given in the statement, decide which of the suggested
courses of action logically follow(s).

Statement:
Besides looking presentable. one should also focus on developing oneself intellectually.

Course of Action:
I People should not follow fashion.
II) People should keep themselves more socially awakened so as to have logically correct ideologies.
III)  People should focus on gaining maximum knowledge of their domain.
Options:
1. » OnlyIfollows

2 % OnlyII follows

3. % BothIandII follow

4. « BothII and III follow

Question Number : 22 Question Id : 9983677458 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
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Il. ST P GE HIA HATSF AR Tl AT AT Afdhew w7 F FEr ARyt # e
FAT TR
. e FF H9x &7 F HOFIH T g Fla W &0 Figd FIT AT

Options:




1 el | HTEROT AT B

5 x el || 3THIOT LT g

3 x| 3T 11 et HTEOT S E

4 o 3R 111 =t 3FEOT A 2

Question Number : 23 Question Id : 9983677459 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four letter clusters are given out of which the three letter clusters bear a certain common relationship. Choose the option
in which the letter clusters are differently related.

Options:
1. &« CXIR

9 % DWIQ

3. % PKVE

4 « GTKL

Question Number : 23 Question Id : 9983677459 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A = e weg U o §, BeE @ @ e weg e 7 R A e alfe @ wefte ¥ amow
H FEY AT @A T HeW WAG! ATl [aehed T |

Options:

1. =« CXR



2 % DWJQ

3. % PKVE

4. v GTKL

Question Number : 24 Question Id : 9983677460 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four numbers are given out of which the three numbers bear a certain common relationship. Choose the number which
is different from others.

Options:
1. = 112

? % 176

3. % 208

A« 274

Question Number : 24 Question Id : 9983677460 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IR TEAW & 2 §, OeH ¥ 9 gEmdt F 9= ve RREa gaear §) B gem @ gae

Options:

1. = 112

2 % 176



3. % 208

4. » 274

Question Number : 25 Question Id : 9983677461 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Four figures are given out of which the three figures bear a certain common relationship. Choose the figures which is
different from others.

Options:

3.v



Question Number : 25 Question Id : 9983677461 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

W # AR Hpiaar & 7S § TmE @ A7 amploat & &9 v ARea aEew wey g1 B aeta @
Coicicay

Options:




Question Number : 26 Question Id : 9983677462 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Venn diagram that best represents the given set of classes:

DOGS, HORSES, GOAT
Options:

QOc

O-0

2.

3. %



4. =

Question Number : 26 Question Id : 9983677462 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o 7 ¥ =7 3 37 3@, e v 3=t & A +# gatcaw §fa @ Samar 27

Options:

.Oc

e

3. =



Question Number : 27 Question Id : 9983677463 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Venn diagram that best represents the given set of classes:

ARTICHOKE, VEGETABLES, BROCCOLI

Options:



O

Question Number : 27 Question Id : 9983677463 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o= & @ &7 @ 37 3@, Br v J911 & AT # g&afcaqm {fT T e 72
greftTs, gfesan, S (qearene)

Options:

1. ¢

DO



Question Number : 28 Question Id : 9983677464 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

If ‘A - B means A is mother of B, ‘A $ B°, A is sister of B, ‘A (@ B’ means A is father of B and ‘A=B" means A is son
of B.

If R=S - O @ P. then how R is related to P?
Options:
1. » Nephew

? « Uncle

3. % Brother

/. % Niece

Question Number : 28 Question Id : 9983677464 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I A-B AR FATA BHF AL ASB A ITABHI TGag A@QB FT T A Bw R g
3T A = B & 3T A B & 99 2

T R=5-0@P&% dR, P& FE 9 & gafog g2
Options:
1. = #d=T



Question Number : 29 Question Id : 9983677465 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Shahini and Mohani are sisters. Dev and Anu are brothers. Dinesh is husband of Manju and son of Jyoti. Dev is son
Jvotij and Jyoti is mother of Shahini. How Anu is related to Dinesh?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. Son
?  Brother
3. Father

4], Brother in law

Question Number : 29 Question Id : 9983677465 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g AR A TEA E &F AR 3 oS §) Rmw, e F 9y 3Rk Sy F oder 1 &m, Sy w7 oA
¢ A ==fa, enfear & @ 81 3, Gy ¥ fpw 9o @ wefoT 87

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.
Options:

1. @

D, S



4, T

Question Number : 30 Question Id : 9983677466 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

If ‘P * Q" means P is father of Q, ‘P % Q’. P is daughter of Q, ‘P # Q" means P is mother of Q and ‘P = Q" means Q is
son of P

. IfTM*N% Q#R* S, then how R is related to N?
Options:

1. + Brother
? % Son
3. % Father

4. % Mother

Question Number : 30 Question Id : 9983677466 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TEP+ QFATP, QF VT E PUH Q FATP, QFITT PHQ F HTEP, QFTATE
IRP=Q&aTE Q P& IF &

LIEM«N%O#R +S g arR, N ¥ &g yer mafg g2

Options:

1. v ¥

2. % =@



Question Number : 31 Question Id : 9983677467 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In certain code BLADE is written as 2151235, How will be CLOCK written in that code?
Options:
1. « 315152411

7 % 315162411

3 % 31515411

4. % 31515211

Question Number : 31 Question Id : 9983677467 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

f~dT =15 # BLADE =" 2151235 fr@r Jam g, 38T &1 & CLOCK & &% for@r smeem?

Options:

1.« 315152411

2w 315162411

3. % 31515411



4. % 31515211

Question Number : 32 Question Id : 9983677468 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In certain code BOTANY is written as 462. How will be ZOOLOGY written in that code?
Options:
1. = 575

3.~ 805

A4 = 775

Question Number : 32 Question Id : 9983677468 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3 s # BOTANY " 462 @@ Srar g, 387 s § ZOOLOGY Fr Fu for@r sreem?

Options:

1. = 575
2 % 150
3. « 805
4 = 775

Question Number : 33 Question Id : 9983677469 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Which of the following pairs of signs, when their positions are interchanged. will correctly solve the given mathematical
equation?

20+5-25+-5%x5=100

Options:
1. ® +and
? % “and+

3 ¢ tandx

4 = +and-

Question Number : 33 Question Id : 9983677469 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

F=fafla 7 ¥ el F #i ¥ 2 7, 33f Tufag & e sea T 3= 9v, & e aw
O THEOT T TWE & T g FL?

20+5-25+=5x5=100
Options:

Question Number : 34 Question Id : 9983677470 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



‘Which of the following pairs of numbers and signs, when their positions are interchanged, will correctly solve the given
mathematical equation?

6-4x12+14-7=5
Options:
1. = 36 and 12, + and —

7 % 7 and 36, — and x

7 o ldand7, xand+

4 % 12and 7. +and -

Question Number : 34 Question Id : 9983677470 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T=fa § 9 Fia & gt 7 feEl & A2 7, 3939 e & Wt 95 B I @T, 7= B
T O FHEUT F T T T FF FLE?

36+4x12+14-7=5
Options:

1. = 36 3R 12, + 3R -

D x 7 3R 36, - 3 x

3. v 1437, x 3T+

4. » 1237 + 3K -

Question Number : 35 Question Id : 9983677471 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In the year 2017, India celebrated its Republic Day on Thursday. On which day of the same year it celebrated its
Independence Day?



Options:
1. » Wednesday

2 % Thursday

3 x Sunday

4. » Tuesday

Question Number : 35 Question Id : 9983677471 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

RS &, @ 2017 H, 91 70T GFE AR T AN FU WA FATaT 7w w7 Famr e

Options:

1. » T
2_ #® 2

Question Number : 36 Question Id : 9983677472 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

P. Q. R, S and T are sitting in a row facing North. P is sitting next to Q and R is sitting next to S. P is sitting between Q
and R and R is sitting on the second position from the right.

Who is sitting at the extreme left?

Options:

1 = Q



Question Number : 36 Question Id : 9983677472 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

PQRSHTIH A AP FF F FAX A GRS P, QF a9 A J37 ¢ 3R, S F 7717
Hdsr g1 P, Q¥R R & & & da1 ¢ 3R R, g% 3N ¥ g@ T W 927 &l
e a5 HR FA FaT 87

Options:

1. = Q
? =% S
3. v T

Question Number : 37 Question Id : 9983677473 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In problem, out of four figures marked 1. 2. 3 and 4, three are similar in a certain manner. However one figure is not like
the other three. Choose the figure which is different from the rest.

Answer Fig.

HEIER

| 2 3 4

Options:



Question Number : 37 Question Id : 9983677473 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A T ow wo A, 9w ampfaar 1, 2, 3 AR 4 & 7% & A7 ptaar w7 R ar B weR @
TATAST T ¢ gTelisr Uah HHla 3 dal O 3T g & ampia & I7a &1

3eat i

_‘f”é] D A = _ﬂ";w 3U
B
2

1 3 4
Options:
1% 1
2w 2
3. v 3
4, = 4

Question Number : 38 Question Id : 9983677474 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Select the option that will correctly replace the question mark (?) in the series.

15,19, 38, 42, 84, ?
Options:
1. = 168

7 % 146

3 = 87

4, v 88

Question Number : 38 Question Id : 9983677474 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

30 [aeT & 99 Y S A & % ST H T Teg (?) N g o qeem

15, 19, 38, 42, 84, 7

Options:

1 « 168
2 % 146
3 = 87
4, v 88

Question Number : 39 Question Id : 9983677475 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Select the option that will correctly replace the question mark (?) in the series.

21,2541, 77,7



Options:
1. = 121

2. v 141

3 % 95

A % 105

Question Number : 39 Question Id : 9983677475 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

30 FFeT & 994 X S A & T8 ST H 9o Teg (?) F Feg o T

21, 26, 41, 77, 7?

Options:
1 = 121
2. v 141
3. % 95
4 = 105

Question Number : 40 Question Id : 9983677476 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

One term in the number series is wrong. Find out the wrong term.
12,18, 54, 60, 180, 188, 558

Options:



1. = 60

7 % 180

3 o« 188

Question Number : 40 Question Id : 9983677476 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

&1 % TEW AW H Tk 9 T g1 T U H IaT T
12,18, 54, 60, 180, 188, 558

Options:
1. = 60
2 % 180
3 o 188
4. = 54
General Awarenessl
Group Number : 3
Group Id: 998367319
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No

Break time: 0



Group Marks: 20

IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

General Awarenessi

Section Id : 998367325

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions; 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 998367469
Question Shuffling Allowed : Yes

Question Number : 41 Question Id : 9983677477 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Operation Save Kurma’ was conducted to:

Options:

1. = Combat terrorist attacks

2. v Combat illegal trade in live turtles
3. » Combat illegal trade in tiger skin
4, » Combat human trafficking

Question Number : 41 Question Id : 9983677477 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

'Wmﬁag«fﬂﬁ* & Tolv 3=NT=a ToRaT |

Options:

1. % Tdhdlel HAT ol ATHAT i

2. v Saa chf.j&dﬁ T ATl ST Vehat
3. = STE T WIS T IR AR Uehal

4. = HIT dERT Uehad




Question Number : 42 Question Id : 9983677478 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In which year was ‘Namami Gange’ initiated?

Options:

1.~ 2014
2. % 2010
3. = 2004
4. = 2000

Question Number : 42 Question Id : 9983677478 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

'aﬂﬁ?ﬁﬁmaﬁﬁgww

Options:

1. v 2014
2. = 2010
3. = 2004
4. = 2000

Question Number : 43 Question Id : 9983677479 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The World Environment Day is celebrated on

Options:

1. v 5 June
2. = 12 July
3. % 10 Aprll
4. = 23 June

Question Number : 43 Question Id : 9983677479 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Aeg gaTaRor feaw T HITAT ST &1

Options:




JSEL?I'

« 12 o
10 378l
- 23 5

ol
#®

Question Number : 44 Question Id : 9983677480 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is India’s rank on the Climate Change Performance
Index 20197

Options:

1. v 11th
2. = 17th
3. % 22nd
4. = 37th

Question Number : 44 Question Id : 9983677480 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

STerary giactel Yeelel Faehish 2019 A R fov Tomer oT &7

Options:

1. v 11al
2. = 1747
3. = 22ar
4, = 3747

Question Number : 45 Question Id : 9983677481 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which Mission will carry the first woman astronaut to the
Moon in 20247?

Options:

1. = Mission Apollo



2. v Mission Artemis
3. = Mission Luna 7
4. = Mission Beresheet

Question Number : 45 Question Id : 9983677481 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

siel T TAE, 2024 H UUH ATgm HANETATAT T TgAT 0T of
SITTITT?

Options:

1. = THeeT 3mdqrer
2. v Thea anéAw
3. = TR o 7
4, = THeeT e

Question Number : 46 Question Id : 9983677482 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

DRDO has come up with an indigenously produced Advanced
Alr Defence interceptor missile. The name of the missile is:

Options:

1. = Karan,]
2. % Arihant
3. v Ashwin

4. = Tejas

Question Number : 46 Question Id : 9983677482 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

SIRETST o Uk Taeell fffd Seata arg T&1 serive fAamse
AT T g1 50 AASe 1 ATA gl

Options:

1. % il




Question Number : 47 Question Id : 9983677483 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who amongst the following has been awarded with Seoul
Peace Prize 20187

Options:

1. v Narendra Modi

2. » Imran Khan

3. = Nirmala Sitharaman
4. = Aung san suu Kyi

Question Number : 47 Question Id : 9983677483 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

far & @ Tord O onfd QR 2018 vera foham am=me?

Options:

1. v g AR

2. * SHITel Td
3. = Toidem AIdRATT
4. » 3iear HoT G H1

Question Number : 48 Question Id : 9983677484 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who is the first female pilot in the world to complete a solo
flight across the Greenland Ice Cap in Light Sport Aircraft?

Options:

1. = Avni Chaturvedi
2. * Neerja Kohli



3. v Aarohi Pandit
4. = Prachee Rawat

Question Number : 48 Question Id : 9983677484 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

goeh TUIC AT H 3Tohel 38Te s Alddols EATER
(Greenland Ice Cap) & U sl drell [ded T T2d HAfgeN

URISIE hial &7

Options:

1. = 37&elr <Iqdar
2. = SISl higell
3. v MREr uiEd
4, = YT qad

Question Number : 49 Question Id : 9983677485 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who amongst the followings is known as Grand Old Man of
India?

Options:

1. = Surendranath Banerjee
2. v Dadabhal Naoroji

3. * Anand Charlu

4. = Badruddin Tyabji

Question Number : 49 Question Id : 9983677485 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e # @ 0 ART T A TAGE TFT Fgl ST &7

Options:

1. = '-{:I;a'p'\a'lliT SEIGH]

2. v GIGTHTS &S




3. ® 34 um’j\

4, = Fchelel ISl

Question Number : 50 Question Id : 9983677486 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Doctrine of Lapse policy was introduced by:

Options:

1. v Lord Dalhousie
2. » Lord Wellesely
3. = Lord Cornwallis
4. » Thomas Munro

Question Number : 50 Question Id : 9983677486 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

887 g (Lapse policy) &gid ZaNT ore] TR 37|

Options:

1. v i SAgaT
2. = WIS dolad
3. = WIS Hledied
4. = OIAT FeT

Question Number : 51 Question Id : 9983677487 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The evidence of a ploughed field has been found in the
Harappan site of:

Options:

1. v Kalibangan
2. = Rakhigarhi
3. #= Kot Diji

4, = Nageshwar



Question Number : 51 Question Id : 9983677487 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g5TaT & FATT W S ¥ W F HIEI 9V AV g

Options:

1. v STelledrd
2. % {EEE!
3. * I el
4. = wEeaY

Question Number : 52 Question Id : 9983677488 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which one of the followings is NOT a school of Indian
Philosophy?

Options:

1. * Nyaya

2. » Samkhya
3. » Vedanta
4. v Gramika

Question Number : 52 Question Id : 9983677488 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foeet H O i &I, 9RO i AaRaRT d8r 87

Options:

1. = =
2. = OTGT
3. * dard
4. v JTHR

Question Number : 53 Question Id : 9983677489 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



The ‘Operation Blue Star’is associated to which of the
following events of Indian Politics?

Options:

1. = Indo-pak war of 1962

2. v Military Raid of Golden Temple
3. = Dravidian Movement

4. » The demand of Azad kashmir

Question Number : 53 Question Id : 9983677489 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3R 6 TN AN Telaliia ol folest # & forE o &

1. = 1962 T HLJ-YTh g8
v ¥EUT ATeY W T 38T

2.
3. » gIAg 3Talele
4.

x TS HHIT hT AT

Question Number : 54 Question Id : 9983677490 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which government implemented the recommendations of
Mandal Commission?

Options:

1. v Janata Dal

2. » {ongress

3. » Bahujan Samajwadi Party
4. = DMK

Question Number : 54 Question Id : 9983677490 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fhT EHR o ASeT AT T ABIRT 7 o] feram?




Options:

1. v SleldT Gel

2. % HAH

3. * Sgolel HATSIATGr Tet
4. » ZTHR

Question Number : 55 Question Id : 9983677491 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In 1972, the Dalit Panthers, a militant organization of the
Dalit youth was formed in which state of India?

Options:

1. = Uttar Pradesh

2. » Andhra Pradesh
3. v Maharashtra

4. » Karnataka

Question Number : 55 Question Id : 9983677491 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1972 & gfed gqldﬁ FT STeld T sTHh U 3ITTel JITad
T & T Tsg H Mod har I=m?

Options:

1. % 3cal vder
2. = 3T UGLT
3. v HABNISC
4. % Fallceh

Question Number : 56 Question Id : 9983677492 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which Amendment to the Indian Constitution has eliminated
the Right to Property?

Options:



1. » 42nd Amendment
2. v 44th Amendment
3. = 86th Amendment
4. = 52nd Amendment

Question Number : 56 Question Id : 9983677492 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT AT & fohg @engd o, §9fcd & ATURR kT AT
foraT?

Options:

1. = 42aT Gy
2. v 44TT gendeT
3. = 86aT HeMYe
4. = 52T HeMeT

Question Number : 57 Question Id : 9983677493 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Fundamental Duties are enshrined in which part of the
Indian Constitution?

Options:

1. v Part IVA
2. % PartIII B
3. % Part VI C
4. = PartIX A

Question Number : 57 Question Id : 9983677493 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HRAT HIGUTel & Tohd HET H HAlfelsh Hheled g 1w §?

Options:

1. v {ET IV ©



2. % #7197 Il &7
3. = HET VI &r
4., = HAET IX T

Question Number : 58 Question Id : 9983677494 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The first Health Minister of India was

Options:

1. = Vijayalaxmi Pandit

2. v Raj Kumari Amrit Kaur
3. » Saronjini Naidu

4. » Amrita Pritam

Question Number : 58 Question Id : 9983677494 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

TR o TIH TGELT AT 27|

Options:

1. = fosrreresAT afsa

2. v T FANT 37T R
3. * TSl AIg

4. = 3IFAT WA

Question Number : 59 Question Id : 9983677495 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Who won in men’s singles at Indian Open Badminton 2019?

Options:

1. = Ajay Jayaram

2. % Lee Yang

3. # Srikanth Kidambi
4. v Viktor Axelsen



Question Number : 59 Question Id : 9983677495 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T3l 3NUel dsfHcer 2019 H &Y Uehel fohdal SidT?

Options:

1. = 31T STLTH
2. % ol T
3. % SR TeorerEr

4. v @FeT vt

Question Number : 60 Question Id : 9983677496 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which tournament has the motto ‘Let me win. But if I cannot
win , let me be brave in the attempt.”?

Options:

1. = All England Open Badminton Championships
2. v Special Olympics World Games

3. » Gee Bee Boxing Tournament

4. = Pro Volleyball League

Question Number : 60 Question Id : 9983677496 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fohE galAT 1 3 gy ‘o AT fdef, 9 $% 3 sheldlic
faer, ol A & 99 a1 i 3rcF e &7

Options:

1. = 3ol 39008 3IUal SsTHCA AFqdaIrercy
2. v TS 3MelF9srd des AT

3. = S ST SITeFHaT ToAlHE

4, = Y Qlellalel ol




General Awareness2

Group Number : 4

Group Id: 998367320

Group Maximum Duration : 0

Group Minimum Duration : 0

Show Attended Group? : No

Edit Attended Group? : No

Break time: 0

Group Marks: 20

Isthis Group for Examiner?: No

Revisit allowed for group Instructions? : Yes

Maximum Instruction Time: 0

Minimum Instruction Time: 0

General Awareness?2

Section Id : 998367326
Section Number : 1
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 20
Number of Questionsto be attempted: 20
Section Marks: 20

Sub-Section Number: 1
Sub-Section 1d: 998367470
Question Shuffling Allowed : Yes

Question Number : 61 Question Id : 9983677497 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

La Liga title is associated with

Options:

1. v Football

2. » Swimming
3. = Judo

4. = Fencing

Question Number : 61 Question Id : 9983677497 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

CIRCIEIRECGIE] o gerad gl

Options:



B W=
®

Question Number : 62 Question Id : 9983677498 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The famous Lingaraj Temple is situated at

Options:

1. » Nainital

2. = Ujjain

3. v Bhubaneswar
4. = Hyderabad

Question Number : 62 Question Id : 9983677498 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

uiag ToeRTeT Al H Fua gl

1. = olardrel
2. % Jwoiel

3.&*323?@&
4. % BITETE,

Question Number : 63 Question Id : 9983677499 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

In January 2019, Which city has been designated by UNESCO
as World Capital of Architecture for 20207

Options:

1. v Rio de Janeiro
2. » Venice



3. = Istanbhul
4. = LLondon

Question Number : 63 Question Id : 9983677499 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

STefadl 2019 H, Joleer! ST T 28T &I 2020 & Tolv faeq
T ATET el ISTeTaT o &7 & aArfaa rar =

Options:

1. v T 37 SR
2. = afad

3. = FETAEe

4. = cga

Question Number : 64 Question Id : 9983677500 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

To which Gharana, Pandit Bhimsen Joshi was associated with?

Options:

1. * Rangeela Gharana
2. » Gwallor Gharana
3. » Jaipur Atroll

4. v Kirana Gharana

Question Number : 64 Question Id : 9983677500 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

gfed dTATT el fg W 8 garag 27

Options:

1. % T3l TTAT
2. % FgITelAT T
3. % SR Aol

4. v TRITeT OTe




Question Number : 65 Question Id : 9983677501 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Pench Tiger Reserve is situated in

Options:

1. v Madhya Pradesh
2. » Uttarakhand

3. = Bihar

4. » Kerala

Question Number : 65 Question Id : 9983677501 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U=l ST 3R A g &

Options:

1. v HET yer

2. * 3cadlEs

3. » o8N~
4, = FToT

Question Number : 66 Question Id : 9983677502 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The famous Dhuandhar fall is in

Options:

1. = Kolhapur

2. v Jabalpur
3. = Sambalpur
4. = Samastipur

Question Number : 66 Question Id : 9983677502 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

URE ITUR FaTd H P gl

Options:




1. = Pl

s

2. EEETET
S.wa'aag'\r

4. = Hd-li-dnlg{

Question Number : 67 Question Id : 9983677503 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Ganga originates from the Gangotri glacier as:

Options:

1. = Alaknanda
2. » Padma

3. v Bhagirathi
4. = Meghna

Question Number : 67 Question Id : 9983677503 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I, LT BHaAS O F T H forrorar &1

Options:

1. = 37clshaiel
2. % O3
3. v HETT
4. = PET

Question Number : 68 Question Id : 9983677504 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Pradhan Mantri Gram Sadak Yojna was launched in the
year:

Options:

1. » 1997
2. % 1998



3. % 1999
4. v 2000

Question Number : 68 Question Id : 9983677504 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TeTHAT ATH TS5k Alolell, TV H 3T FT TS|

Options:

1. = 1997
2. = 1998
3. = 1999
4. v 2000

Question Number : 69 Question Id : 9983677505 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Kudumbashree’ is a women-oriented community based
poverty reduction program of which of the following states?

Options:

1. = Maharashtra
2. » Karnataka
3. = Odisha

4. v Kerala

Question Number : 69 Question Id : 9983677505 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FeFSAl AlGAT-3e0% THEIS Teledeldl wgailivl FHIIhA

oFE TSI T &7

Options:

1. = HBNISE
2. % Shallceh
3. = 37f=er




4. v Tl

Question Number : 70 Question Id : 9983677506 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

The celebrated work, ‘The Wealth Of Nations’ was authored
by :

Options:

1. = John Maynard Keynes
2. = John Nash

3. v Adam Smith

4. = Alfred Marshall

Question Number : 70 Question Id : 9983677506 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ufig Fid g door 316 derg’ & o@F |

Options:

1. = Sliel AATE Heq
2. = Sllel ool

3. v UsH [ERy

4, = 37eths Hrefer

Question Number : 71 Question Id : 9983677507 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which solil is rich in loam and clay?

Options:

1. = Desert soil
2. = Red soll

3. = Black soil
4. v Alluvial soil

Question Number : 71 Question Id : 9983677507 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



fpe Aar # drdae 3 Reretr fAeer &1 s1fderar gidr &7

Options:

1. » ASEUAR HaT
2. % ollcl Hcl
3. # el Hal

4. v IS el

Question Number : 72 Question Id : 9983677508 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which bacteria causes food poisoning?

Options:

1. = Streptococcus
2. v Salmonella

3. » Anaplasma
4. = Bacillus

Question Number : 72 Question Id : 9983677508 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

i AT SHIAT0], WMed ANl T FRUT &7

Options:

1. = TITIhiehd
2. v GTeAd
3. & UdlCelloH]

4. » T

Question Number : 73 Question Id : 9983677509 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Calcium Hydroxide is present in:

Options:

1. » Soap




2. = Milk of Magnesia
3. v Lime water
4. = Amla

Question Number : 73 Question Id : 9983677509 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

H hTeRIH EISSIFAISS aIaT gl

Options:

1. « T

2. » [@een 36 Hear=m=r
S.Jc‘rﬁﬁ:m?ﬁ'

4, = 3Tl

Question Number : 74 Question Id : 9983677510 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What is the full form of MRI scan?

Options:

1. v Magnetic Resonance Imaging
2. = Molecular Reflection Imaging
3. » Magnetic Resistance Imaging
4. = Mind Research Imaging

Question Number : 74 Question Id : 9983677510 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TAN3TS (MRI) Tehet T qUT &7 T §7

Options:

1. v Hodfer ST SRS
2. = Hadleewr Nrelsrera SHTSIET
3. » Hadfesw WaEdw AT
4. = AZs @< AT



Question Number : 75 Question Id : 9983677511 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Mission Shakti is:

Options:

1. * Empowering rural women
2. = Earth observation satellite
3. v Anti-satellite missile test
4. = UJtilisation of solar energy

Question Number : 75 Question Id : 9983677511 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

faere erfed gl

Options:

1. = JPTATIT ATET3 AT eIk IU]
2. = gadl qAdeTor 399g

3. v 3yIEASr Aarser adieror
4. = T FAT FT 3T

Question Number : 76 Question Id : 9983677512 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Apophis is a/an:
Options:

1. = Bacteria
2. v Asteroid
3. = Plant
4. = Insect

Question Number : 76 Question Id : 9983677512 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR U gl

Options:



Question Number : 77 Question Id : 9983677513 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Where is the Sindol hydro-power project located?

Options:

1. » Karnataka
2. » Gujarat

3. = Uttarakhand
4. v Odisha

Question Number : 77 Question Id : 9983677513 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fereer STerfaegd aRASTAT W FaT feud &7

Options:

1. % Shellceh
2.%3;GITI?-F

3. * 3cadlEs

4. v 37Tem

Question Number : 78 Question Id : 9983677514 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The Forest Research Institute is situated at:

Options:

1. = Gorakhpur
2. v Dehradun
3. = Cuttack



4, » Rishikesh

Question Number : 78 Question Id : 9983677514 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tl AT HEUTH 7 T g
Options:

1. = IR
2. v d@gsl

3. ® ek
4. = FTYheT

Question Number : 79 Question Id : 9983677515 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The ICAR-National Research Centre for Banana was
established in August 1993 at

Options:

1. = Palakkad, Kerala
2. » Belgaum, Karnataka

3. » Jalgaon, Maharashtra
4. v Tiruchirappalli, Tamil Nadu

Question Number : 79 Question Id : 9983677515 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ISHTUINIASET holl IeTHYTe her I 3IEd 1993 A
H Fiua forar T

Options:

1. = ToloFehg, hiol

M [
2. *= HeldlTH, hdlch

3. = STerdld, ASRISE
4. v TaeFgee, dffeETg




Question Number : 80 Question Id : 9983677516 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

The Indian Institute of Spices Research 1s stationed at:

Options:

1. = Coorg

2. v Kozikode
3. = Ooty

4. = Shimla

Question Number : 80 Question Id : 9983677516 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

AT HATeT aﬂﬁam TE2Te]

Options:

1. = Fat
2. v RIZHIE
3. % 3l
4. % TErHET

Group Number :

Group Id:

Group Maximum Duration :
Group Minimum Duration :
Show Attended Group?:
Edit Attended Group? :
Break time:

Group Marks:
IsthisGroup for Examiner?:

Revisit allowed for group Instructions? :

Maximum Instruction Time:
Minimum Instruction Time:

Section Id :

H7 Fua gl

Arithmetic Abilityl

5
998367321
0

0

No

No

Arithmetic Ability1

998367327



Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 998367471
Question Shuffling Allowed : Yes

Question Number : 81 Question Id : 9983677517 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
5

The val f — -
12 vValue o 32\;:—]8416
Options:
6
1. = 7
)
? % 6
8
3.v7
)
4w 8

Question Number : 81 Question Id : 9983677517 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
5

21'65535 ;
X | #AA = gram|

5||
EEEDT

Options:



~1| o

~1| o

Question Number : 82 Question Id : 9983677518 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

X 6 10 14 138 22 26 30

] Y = 1222 t 2232 T 3242 t 4252 t 5lg2 ® 6272 T 72g2"’

and X and Y are prime number to each other,

then (X—7Y) is equal to:

Options:
1. = 10

LA

2. % 2

3. v 31

LA

4 % 3

Question Number : 82 Question Id : 9983677518 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
e X 6 10 14 18 22 26 30 3 3 = ;
Yy 1222 ¥ 2dzt T 3242 ¥ 4252 T 5262 * 6272 ® 758z = T Fh o F HHATT FEA E,

ar (X—Y) 1 A 1 gem?




Options:

1. = 10
2 = 25
3. v 31
4. = 35

Question Number : 83 Question Id : 9983677519 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

(1+ o )(1+ e )(1+—11 )—(1— L J(l— . )(1— s J
% 14— 1+E 14— \ 1+E L 1+E Tg——

100 100 1007 ___

(1100)2+( 1 )2_'_ zol -
101 101 (101)2

The value of

Options:

201
1. = 101

200
2.« 101

210
3 % 101

210
4. = 103

Question Number : 83 Question Id : 9983677519 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



14— )(1+ E )(1+ = )—(1— E )(1— = )(1— = )
( T s A i b T FT HIS F4T 2E?

100 100 1=11I:-:ID
CE R AR

Options:

201
1. = 101

200
2. v 101

210
3. = 101

210
4. = 103

Question Number : 84 Question Id : 9983677520 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I give one-fifth of the oranges I have to a boy and ?i of the remaining to a girl. I still have 12 oranges left. How many
oranges did I have at the beginning?

Options:
1. = 30

? & 35

3. 0w 40

A = 45

Question Number : 84 Question Id : 9983677520 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



AT 98 gméw%,ﬁmm%mwaﬁﬁaﬁvfmwaﬁﬁmglﬁwm
o 12 Tl T2 g1 YRsd A AL 9 fhas Hay a7

Options:

1. = 30
2. v 35
3. = 40
4. = 45

Question Number : 85 Question Id : 9983677521 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

J 2.7=0.56x2.52
What is the value of 4 X ——?
0.12x0.09=0.7

Options:
1. = 2000

7« 2016

3. % 1018

A % 2019

Question Number : 85 Question Id : 9983677521 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

4 % 2.7x0.56x2.52 =T FIT I;] ?

0.12x0.09x0.7
Options:



1. = 2000

2. v 2016
3. % 1018
4 = 2019

Question Number : 86 Question Id : 9983677522 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

H&MM=8xA+%+3xc+§ﬂmnmvmmﬁ4xg+2x3+?xc+%mmmum

Options:
1. v 42.73

D % 4237
3w 40.72

A % 4227

Question Number : 86 Question Id : 9983677522 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3%83.34=8><A+%+3><C+%,a‘r AR EIER LT xc+%%mﬁﬁaﬁﬁm$wm
Options:

1. v 4273



2 % 42.37

3. % 4072

4. % 4227

Question Number : 87 Question Id : 9983677523 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Represent 0.2341 in the form of p/q whereq = 0.

Options:
781

1. = 3330

1171
7 % 4995

2341
3. % 9990

2339
4.« 9990

Question Number : 87 Question Id : 9983677523 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

0.2341 # p/q F ¥T & =gad F{, & W q= 0 Tl

Options:

781
1. % 3330




1171

2 % 4995
2341
3 % 9990
2339
A4, » 9990

Question Number : 88 Question Id : 9983677524 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

U o T (10terms) and y = L N S T (10terms) then find the average of
1x2 2%3 Ix4 45 S5x6 &6x7 Tx8

of x and y?
Options:

353

1. = 616

533
7 % 616

335
3. v 616

435
. % 616

Question Number : 88 Question Id : 9983677524 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

uﬁx=i+i+i+---+(1{}tﬁ)my=%+ - +i+$+---+(10tﬁ)%’?ﬂ' T x 3Ty &

1x2  2X3 3Ixd &% 36 Bx7

tEa 79 F:?

Options:




353

1. % 616
533
2« 616
335
3. v 616
435
4. % 616

Question Number : 89 Question Id : 9983677525 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Mark5' 0.25

In a class of 100 students, - > of the total number of students like to play football OIﬂV - of the total number of students
like to play volleyball Dnly and the remaining students like to play both. What fraction of the total number of students
likes to play both games?

Options:
3

1. & 20

3.v 20

Question Number : 89 Question Id : 9983677525 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



100 ©TST & T F:ET H, aa—c»rm-ai’réﬁ ﬁmmmm% mm‘:ﬁra‘ﬁ I FIT JreEreT
Tl e 8, Eﬁ%ﬁ?g‘t’wduﬁqw T umﬂ‘ﬂﬁ%lﬁﬂ#%ﬁmaﬁmm T WAl
THg 27

Options:
3
1. = 20
1
2 = 20
7
3. v 20
9
4 = 20

Question Number : 90 Question Id : 9983677526 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

If a fraction is multiplied by itself and then divided by the reciprocal of the same fraction. then the result is 18— What
is the fraction?
Options:

8

1. = 27



Wl oo

4, v

Question Number : 90 Question Id : 9983677526 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

s e fiem &1 3 3T § Tom R S 7 3R O quewe i 5ue sgema ® Renfea e
m%’,#ruﬁmmsgmm%ta?agﬁ:mmm

Options:
8
1. = 27
13
2. %
3.x 11
8
4. v 3

Question Number : 91 Question Id : 9983677527 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How many numbers between 500 and 700 will have a remainder 3 on being divided by 10, 12 and 15?

Options:

1. % 1

2. % 2

3. v 3



4 = 4

Question Number : 91 Question Id : 9983677527 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

500 3T 700 ¥ &= &r o gEaw o § ey 10, 12 3k 15 @ Rufeag &= o 99 3 s=29r?

Options:

Question Number : 92 Question Id : 9983677528 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

The number of candidates who have appeared for the faculty position in three different branches C.S.E.. E.C.E., and
Civil are 18, 24, and 88 respectively. The written test is to be conducted for these candidates such that only the
candidate of the same branch is allowed in one room. Also, the number of candidates in each room must be same. What
is the minimum number of rooms that should be arranged to meet all these conditions?

Options:
1. & 45

[~
#
Ln
LM

o2
<

h
Lh

bb.
®

—J
Lh



Question Number : 92 Question Id : 9983677528 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T 3TeTT-371T om@ETHT C.S.E., E.CE., 3t fafew & wreoos ug & v 3ufdyg @e I 3edfgat &
& wA: 18, 24 3T 88 ¥ 54 IFAEER! F v T ofer st & S § st oftew &
e v Ay H U @ OGT & SEHIEART S @ AT g T &, old FAY § IEAEERT fir e
off TATT gt TRT| 31 Tl ol I [ A & oI 7qTaq fhdel FaAl $T 3TaeTHhal grEi?

Options:

1. % 45
2 « 55
3. v 65
4« 75

Question Number : 93 Question Id : 9983677529 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The traffic lights at three different junctions in a city change after every 30 sec, 48 sec and 112 sec respectively. If they
all change simultaneously at 9:10:00 hours, then find the next time at which they will change simultaneously.

Options:
1. «+ 9:38:00 hours

? % 9:28:00 hours

3 % 9:18:00 hours

/. % 9:48:00 hours

Question Number : 93 Question Id : 9983677529 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



TeF MET H 1T eATT-37e19T Sl 9T ¢fher ofgeq FaAen: g¥ 30 Ues, 48 Tehs 3R 112 TFs & 918
g8 SaT §1 IfE T |t asew 9:10:00 9= Uk WY FEAdT &, df 0T F{ O e 9K F UE Ay
FE Tl

Options:

1. v 9:38.00 =1

2 % 9:28:00 =

3 % 91800 5=

A = 9:48:00 s=4

Question Number : 94 Question Id : 9983677530 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

< 3.000 is distributed among A, B and C. If the money given to them decreased by 20. 30 and 10 respectively. then they
have money in the ratio of 2 : 2 : 1. What is the amount given to A?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1. ¥ L.176

2 < 1174

A T 588

Question Number : 94 Question Id : 9983677530 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



¥ 3,000 Fr TfRr Fr A, B 3R C ¥ @7 Taig G smar &1 7 3= & 7% ofEr & Fwer 20, 30
3R 10 % FH & QA AT, o 396 9@ 2 1 2 1 1 F AT H Ry a7 1 g1 A Fr FHew Ry Hr
AOTAT FL |

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all

candidates.
Options:

1. 21,176

2 T1,174

3. %1,200

4. %588

Question Number : 95 Question Id : 9983677531 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Arun, Balaji and Vimal enter into a partnership by investing ¥ 24000, T 48000 and ¥ 12000 respectively. Arun is a
working partner and gets one-fourth of the profit for his services. The remaining profit is divided among the three in the
rate of their investments. What is the amount of profit that Balaji gets if Arun gets a total 0of 3 2.6007

Options:
1. % T 2.160

9w T 2320

3 » T 2.400

4. = T 2460

Question Number : 95 Question Id : 9983677531 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



37T0T, Aol AT AT & A T 24000, T 48000 3T T 12000 1 =39 FIF T F@EEH H 9997
FIT 21 S T HTUT FIH Fl I TEER g, AT I 39T T3t & a8 o1 F7 U =tas T
ST §1 S T S H A % A 3k gar ke e e & st 7 wier smer §) afe o &
Fer 12600 e & A arensh Fr Fes arer amt A auEr F

Options:
1 % 2,160
2« 72320
3 o %2400
A« 2460

Question Number : 96 Question Id : 9983677532 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A man looses 40% of his money. After spending 50% of the remaining amount, he has ¥ 480 left. What is the amount of
money he originally had?

Options:
1. % T 1650

2 % T 1.400

3 T 1600

4 = T 1450

Question Number : 96 Question Id : 9983677532 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TF HEHAT HTeT OF 7 40% 19T 3T g1 9 TR 7 50% T A & 91, 38+ 97 T 480 IEhr =
gl 3T 9E IR H Oaer g ar?



Options:

1 % 1,650
2« 1,400
3 o 1,600
A x %1450

Question Number : 97 Question Id : 9983677533 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A candidate scored 30% and failed by 50 marks, while another candidate scored 40% and got 30 marks more than the
minimum required marks to pass the examination. What is the maximum number of marks?

Options:
1. ¢ 800

7 % 900

3. % 600

A, % 1000

Question Number : 97 Question Id : 9983677533 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ve qledt & 30% 3R grea faw R 50 IR @ T g T, Safe v s qdvemef & 40% 39
wrea e ik oleT & st @9 & T smEws Fgaas de @ 30 3w 30w g 9fem ¥ HReas
3 fraa 47

Options:



1. «+ 800

2 % 900
3. % 600
4. % 1000

Question Number : 98 Question Id : 9983677534 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Two business men A and B buy two gift articles for ¥ 1000 and T 2000 respectively. A marks his article up by x%, while
B marks article up by 2x% and offers a discount of x%. If both make the same non-zero profit. What is the value of x?

Options:
1. «+ 25

4 = 40

Question Number : 98 Question Id : 9983677534 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ar = A 3R B, & 3R FEgst A FHT: T 1000 3K T 2000 F @l §1 A 3T IF W x%
FgIeRT Hiehd e ST & §, Faf B 2x% TR 3HTohd Hed ITaam & 3R x% g &1 § 3R e =t
TR A1 FAS &, A F T @ x F AR AT F:?

Options:

1. v 25



2 % 125

3. % 375

Question Number : 99 Question Id : 9983677535 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

The average weight of a team of 25 players is increased by 4 kg when one player of 40 kg left and another player joined.
After a few months, this new player left and another player joined whose weight was 8 kg less than the player who just
left. What is the difference between the final and initial averages?

Options:
1. = 4.86kg

Question Number : 99 Question Id : 9983677535 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

25 Tgenfeat #r v &7 F ¥ 79 40 kg T F U g Few F@r §, 3R vF g Bendr swd
SRIE o ol g, af & &1 30a 999 4 kg ¢ ST B FS Al a1g Ig A41 [Wensr off &7 ois &
g 3T 3T SEF 3HY 8 kg FH TS AT TFAET T ST g1 AEF v IrfEE g F = o A
AT FL?

Options:

1 % 4.86 kg




5 » 3.68 kg

3. % 3.86 kg

4 x 468 kg

Question Number : 100 Question Id : 9983677536 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

The average age of 4 members of a family is 25 years. If the youngest member is 5 years old. what was average age of
the family at the time of the birth of the youngest member?

Options:

80

1.« 3

Question Number : 100 Question Id : 9983677536 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ve INER & 4 TeEdr @ AuT WY 25 ¥ g IfE I e WeEg 5 a9 # g, of HeH HA 3H F
TEET & FeH & AT INER FT e g w4 o0

Options:




Arithmetic Ability?2

Group Number : 6
Group Id: 998367322
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0
Minimum Instruction Time: 0

Arithmetic Ability?2

Section Id : 998367328

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions; 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section 1d: 998367472
Question Shuffling Allowed : Yes

Question Number : 101 Question Id : 9983677537 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Two pencils, three books and four erasers cost € 15. Three pencils, two books and one eraser cost ¥ 10. I bought 3
pencils, 3 books and 3 erasers. How much did I pay?

Options:

1. & T 10

? T 15

3. = T20

A = T 25

Question Number : 101 Question Id : 9983677537 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ar 9fer, i fhamet 3t = ==t & fr3a T 15 g1 O 9f%dt, o faEt it vw W Hr FEa T 10
gl A 3 9w, 3 fha 3R 3 WY wie) AR e sEae

Options:
1 % %10
2. ¢« T15
3. % T20
4 % T25

Question Number : 102 Question Id : 9983677538 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
The price of rice per kg is increased by 20% but a person increases his expenditure by 15% only. By how much
percentage (correct to two decimal places) should he reduce his consumption so as to maintain the same level of
expenses?

Options:



1. = 3.61

7 % 3.82

3. v 417

A % 4.28

Question Number : 102 Question Id : 9983677538 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g frelt =raer Fr g F 20% Y g A ¥, AfFw v @fFg w9 wF & FIer 15% 3y Far
T 3T ofeT FF IS TET FI 39T &7 TAC W@ F &7 39 39T F fraa giaea &7 8 :Er
2l (EASIE & o TUHAT aF 0T FI)?

Options:
1 % 361
2« 3.82
3. v 4.17
A x 428

Question Number : 103 Question Id : 9983677539 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I purchased 250 copies of a book from a wholesaler. I sold 150 of them at a profit of 20% and 100 of them at a loss of
10%. What was my gain or loss percentage?

Options:
1. = 7-5% gain



3 o 8%gain

4 = 8% loss

Question Number : 103 Question Id : 9983677539 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HA v ik SO @ T TE B 250 gfodm e He 3 F 150 F 20% F WreT W IR 100 F
10% T gifey 9T =7 f&Tm| A7 o7 o1 giiey 9iaerd 2 or?

Options:
1. = 7.5% &

2w 7.5% @

3. v 8% &H

4 - 8% a

Question Number : 104 Question Id : 9983677540 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Akhilesh went to buy furniture and noticed that there is a discount of 30% on a particular brand of chairs. If he wants to

save * 2,227.5 in discounts, where the cost of each chair is T 675 then how many chairs does he need to buy?

Options:
1. = 9

? w11



3 0% 13

4 = 17

Question Number : 104 Question Id : 9983677540 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T weitet Tee T AR 3ue dmr F v R @i SR ) 30% 9 o e o g 3k
& FU F1 AT 2675 § HR 9¢ 9T F AeuH | 12,227.5 H g9 FLAT TEAT g, o 3W Fof fore=

Options:

1. = 9
2. v 1
3 % 13
4 = 17

Question Number : 105 Question Id : 9983677541 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Three successive discounts of 20, 15 and 12 percent on the marked price of an article are equivalent to a discount of x%.
‘What is the value of x correct up to two decimal places?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. 37.00

7 38.12



3. 40.16

A 4127

Question Number : 105 Question Id : 9983677541 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ﬁ-:'@ﬁ'qe-gﬁ}iﬁhd Heo T 20, 153ﬂ?12ﬁﬁﬁﬁﬁﬁ$ﬁ$§'&, x%ﬁi&?#ﬁ?ﬁ'{%faﬁmﬂa
¥ 2 TAHET g X & AT &7 0T FL?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.

Options:
1. 37.00
2 38.12
3. 40.16
4. 41.27

Question Number : 106 Question Id : 9983677542 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

How long will a sum of money invested at 10% per annum simple interest take to increase its value by 50%?
Options:
1. = 4 years

? 5 years

3w 8years



4 = 10 years

Question Number : 106 Question Id : 9983677542 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

O TfEr Fr 10% 9faey & a7 O gremeT sars W FERE s W g7 v #r 50% sex 7 fhaer
TaT Fe?

Options:

1. = 4@
2. v S H
3w 8 WA
4. = 10 @1

Question Number : 107 Question Id : 9983677543 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sum of T 2.000 was lent partly at 5% per annum and partly at 10% per annum simple interest. The total interest

received after 2 years was ¥ 400. Find the amount that was lent at 5%.
Options:
1. = 1000

7 % 1500

3. % 1600

4. « Nothing

Question Number : 107 Question Id : 9983677543 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

¥ 2,000 Fr TfEr #r HAfF T T 5% I 99 3T 30F T T 10% I 9§ ATUROT A1 W AR
femm ama oMy 2 ISt F S1g 9T FA SO 400 U7l 5% A W FUR & A R T A0 HY

Options:
1. % 1000
2 %« 1500
3 % 1600
4, v ¥F

Question Number : 108 Question Id : 9983677544 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Devendar borrows a sum of € 4,000 from his colleague at the beginning of a vear. After four months < 2.000 more is

borrowed at double the previous rate of interest.. At the end of one year. the sum of interest on both the loans is ¥ 560.
What is the first rate of interest per annum?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for al
candidates.
Options:

1. 6%

3 7.5%

Question Number : 108 Question Id : 9983677544 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



| I YR H gae 39 T A § T 4000 H TR 39N P §1 IR A= a@ T€ T 2000 3R
3UR ol g 3R 38 R & &7 &Y ot IR & Fgeme AT gdr 81 e & Ad # ael 3UR W
Fol U 560 AT g1 Tgelr IR T BFF =7 ¥ W 39N o 719 o2

Note: For this question, discrepancy is found in question/answer. So,this question isignored for all
candidates.

Options:
1. 6%
2 6.5%
3. 7.5%
4. 8%

Question Number : 109 Question Id : 9983677545 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25
Charan had invested the same amount of sums at simple as well as compound interests. The time period of both the

interests was 2 years and the rate was the same, 10% per annum. At the end he found a difference of ¥ 2500 in the
interest received. What was the sum invested by Charan?

Options:
1. = T 2.00,000

9w T 225,000

3 » T 2.50,000

4. = T 2.56,000

Question Number : 109 Question Id : 9983677545 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



TOT F TF FAT T WEROT HT T & Tegie s | F5er ) S afdm 2 @ & @ e
3t & AT 3t 9faay 10% & A= aT 9T @9 & 75 ot 39 & 3¢ o et @ g =g &7
¥ 2500 &7 HoX THAT| =0T gART THSARF TR FHr A0 FL?

Options:

1 % 2,00,000

2« 225000

3 » %2,50,000

4 = T 2,56,000

Question Number : 110 Question Id : 9983677546 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A sum of T 8448 is to be divided between A and B who are respectively 18 and 19 years old, in such a way that if their

shares are invested at 6.25% per annum at compound interest, they will receive equal amounts on attaining the age of 21
years. Find the present share of A?

Options:
1. = 4225

3.« 4096

4. % 4000

Question Number : 110 Question Id : 9983677546 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



7 8448 = A AT B, S wAr: 18 3K 19 a9 & §, & 9w =@ v ¥ Tanfog G =mar & & o2
3% &8 & 6.25% Siaay Twgfy o= X =aw &ar =w, ar 21 aw & 3y 9f &= W 3 e
Fr AT T B &1 A & 598787 fear a3 fifea?

Options:
1 = 4225
2. w 4352
3. « 4096
4. = 4000

Question Number : 111 Question Id : 9983677547 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

The base of a pyramid is a square whose side is 30 cm and height is equal to the radius of a circle having circumference
is 44 cm. Find its volume.

Options:

1. « 2100 cm’

Question Number : 111 Question Id : 9983677547 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Wﬁ?ﬁ?ﬂmﬁﬁaﬁ%mam%cm%mﬁé44cmﬁmﬁ#ﬁm#
AT gl $TF HTAA ST 0T HiAT

Options:



1. v 2100 cm3

2 % 2000 cm3

3 % 2500 cm3

A % 2200 cm3

Question Number : 112 Question Id : 9983677548 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Assume that a drop of water is spherical and its diameter is i of a cm. A conical glass has height equal to the diameter

of its rim. If 1,63,84,000 drops of water fill the glass completely, then what is the height of the glass?

Options:

1. %= 12cm

? % 14cm

3 v 16cm

A = 18cm

Question Number : 112 Question Id : 9983677548 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

msﬁﬁvﬁ:mﬁraﬁrwaﬁ?ﬂm%aﬁ?mchm# #W%iwamm
ﬁmmﬁwtw#wmaﬁ:ﬁmaﬁrqﬁaﬁ#m#ﬁmmssmoo I # gEr
&Y HETFAT grar g, ar Fremg & 3= Fr TuEr w7

Options:



1. = 12 cm

2 % 14 cm
3 ¢ 16 cm
4 = 18 cm

Question Number : 113 Question Id : 9983677549 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

A conical cup is filled with chocolate ice cream. The ice cream forms a hemispherical shape on its top. The height of the
hemispherical part is 14 cm. If the radius of the hemispherical part equals the height of the cone, then the volume of the
ice cream is?

Options:

1. = 8,264 cm?

7« 8,624 cm?

3 % 6,284cm®

4. = 6,824cm?

Question Number : 113 Question Id : 9983677549 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T TR Y Tholc JETHH T T F| HEHHHE W97 oMY 97 T HEIAFR HFHR Fa4aT 2
IFEARR AT H FA5 14 cm | TG &g HET Hr ewr of H FE F R g, & wmwmhE
Fr A (volume) Tha=r grefr?

Options:




1. % 87264cm?
2 » 8,624cm?
3 % 6284cm?

4. = 6,824cm?

Question Number : 114 Question Id : 9983677550 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Valve A can fill a sump in 10 hours and valve B can fill the same sump in 8 hours. Only valve A is opened first. After
how many hours should valve B be opened so that the sump will be filled in 6 hours?

Options:

1 v 2? hours

=]

9 % 3% hours
3 % BEhDurs

4 = ZEhnurs

Question Number : 114 Question Id : 9983677550 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e A TF EiEr Fr 10 et # 3 Sreg B 3¢ 26y & 8 el H #T AT £ UE A aed A &Y
QT ST 21 2 Fr 6 get F sW 2n & BT Irew B & Bas uet a1 @ == =fee?

Options:




4

1 22 el 9

32 wet e

Question Number : 115 Question Id : 9983677551 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

When valve A alone is opened to fill a sump. it takes 12 hours more than the time taken to fill the sump when both
valves A and B are opened together. But valve B alone takes 27 hours more than the time taken to fill the sump when
both valves A and B are opened together. In how much time can valves A and B together fill the sump?

Options:
1. %= 10 hours

? % 14 hours
3.« 18 hours

/4. % 22hours

Question Number : 115 Question Id : 9983677551 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T FIA T A FI BT FAGT £ G 2ET Fr o H, TeF A 3T B T FT THATT T 97 FEr F

A H o9 I THT T 12 6 ST oFd 21 SHT 9 oo Iied B TWew W, &A1 Jreal 2arT gidr
F A H 9T I FAY § 27 O SIET o1 g1 I A 3T B =T & U AT Tl 97 giar &r

T H o9 STl AT HT 0T FL?

Options:




1. = 10 =&

2 % 14T
3. v 188
4 = 22 =

Question Number : 116 Question Id : 9983677552 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Two trains travelling in opposite directions cross each other in 10 sec, and when they travel in the same direction. the
faster train overtakes the slower train in 40 sec. What is the ratio of the speeds of the faster train to that of the slower
train?

Options:

1. = 4:1

? o 5:3

A % 17:12

Question Number : 116 Question Id : 9983677552 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A A @ Rala B F @ WA A T wF g F 10 FFS F IR F AN §, Weg 7 ¥ TH &
AT T T T T A T T e T 40 T F IR W T gl aF T ¥
T Ao ¢ AR N AT F T ATl g @ Ao S 24T g

Options:



2. v 5:3
3 % 12 : 11
4 = 17 :12

Question Number : 117 Question Id : 9983677553 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

The population of a city is increased from 2.50,000 to 3.25.000 in a decade. What is the average percent increase of
population per year?

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all
candidates.
Options:

1. 15%

2. 24%

4. 30%

Question Number : 117 Question Id : 9983677553 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

et ET Fr FTEEaT TF g H 2,50,000 ¥ sET 3,25,000 & F1ET g1 9o 99 FaEEar & g
gfeera i = 2

Note: For this question, discrepancy isfound in question/answer. So,this question isignored for all

candidates.
Options:



1. 15%

D 24%
3. 26%
4. 30%

Question Number : 118 Question Id : 9983677554 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

A train having a length of 400 m crosses a bridge of length 800 m. If the speed of the train is 60 km/hr. How much time
will the train take to cross the bridge?

Options:
1. = 60 sec

? & T2sec

3. % 84sec

4 = 96sec

Question Number : 118 Question Id : 9983677554 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

400 m #I FETS AT ¢ 800 m R & TH I P UGN B g1 3 HT A 60 km/hr 1 T F OR
A H & & Fder gFg wEE?

Options:

1. = 60 sec



7 v 72 sec

3w 84 sec

4 = 96 sec

Question Number : 119 Question Id : 9983677555 Question Type: MCQ Option Shuffling: Yes

Correct Marks: 1 Wrong Marks: 0.25

Five students of class X in a school appeared for a test in five different subjects. The following table consists of the
marks obtained by them in five different subjects.

Students | Physics | Mathematics | Chemistry | Biology | English
(Out of | (Out of 100) (Outof | (Outof | (Outof
75) 75) 75) 150)
A 56 65 45 38 a5
B ey 52 62 55 88
C 50 78 70 58 88
D 55 82 65 66 110
E 42 96 64 72 104

Find the difference between the percentage of marks obtained by E in English and that of B in Physics?
Options:
1. « 6.67%

7P % 4.59%

3. % 5.53%

A % 3.12%

Question Number : 119 Question Id : 9983677555 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



TS THel H ZEAT FET & T O o, T Hewr-3ee {uat $ qfene & Fre e F =
3oTeT- HeeT AT # 3% e@rT wieg At 7 foeavor I war g

o st o W\ aA-T9 | e-Rae | 3EsT
(75&F @) | (1007 D) |(75F D) (75 7 @) (150 & @)

A 56 65 45 38 95

B 57 52 62 55 88

s 50 78 70 58 88

D o 82 65 66 110

E 42 96 64 F s 104

E & 3315 3T B & #ifasr F ureg sfaeE 3=t & 99 & 3797 #7471 geme
Options:

1. v 6.67%

2 % 4.59%

3. % 5.53%

4. % 3.12%

Question Number : 120 Question Id : 9983677556 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Five students of class X in a school appeared for a test in five different subjects. The following table consists of the
marks obtained by them in five different subjects.

Students | Physics | Mathematics | Chemistry | Biology | English
(Outof | (Outof100) | (Outof | (Outof |(Outof
75) 75) 75) 150)
A 56 65 45 38 95
B 57 52 62 55 88
C 50 78 70 58 88
D 55 82 65 66 110
E 42 96 64 72 104

The marks obtained by A in Chemistry and Biology together is what percent of the marks obtained by D in Physics and
Mathematics together?

Options:
1. & 66.23%

7 & 60.58%

3. % 58.34%

A % 354.32%

Question Number : 120 Question Id : 9983677556 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



T TR A HAT FET F T O A, T HeleT-Herr Fuat Fr glwme & T ot § =
HT- e Awat A 33F SR ureg R 7 fawer fmr g

(75&FF) | (1007 @) [(75F ) (75 & W) (150 # &)
A 56 65 45 38 95
B 57 52 62 55 88
e 50 78 70 58 88
D 55 82 65 65 110
E 42 96 64 72 104

A & W Ta= 3R S Ree 7 9a 59 3%, D & #ifodr ik a1t 7 9ra Fa 3 @1 e
wiarera &7

Options:

1. =« 66.23%

2 & 60.58%

3. % 58.34%

4. % 54.32%

General English1
Group Number : 7
Group Id: 998367323
Group Maximum Duration : 0
Group Minimum Duration : 0
Show Attended Group? : No
Edit Attended Group? : No
Break time: 0
Group Marks: 20
IsthisGroup for Examiner?: No
Revisit allowed for group Instructions? : Yes
Maximum Instruction Time: 0

Minimum Instruction Time: 0



General Englishil

Section Id : 998367329

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
Sub-Section Id: 998367473
Question Shuffling Allowed : Yes

Question Number : 121 Question Id : 9983677557 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the meaning of the underlined
idiom.

Rajiv left no stone unturned in trying to patch up with his
wife.

Options:

1. = turning everything upside down

2. = not doing enough
3. v to try everything possible
4. = effort going waste

Question Number : 121 Question Id : 9983677557 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the meaning of the underlined

idiom.

Rajiv left no stone unturned In trying to patch up with his

wife.

Options:



1. = turning everything upside down
2. = not doing enough

3. v to try everything possible

4. = effort going waste

Question Number : 122 Question Id : 9983677558 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the meaning of the underlined
idiom.

Whenever Tanisha comes home she complains about her
mother. I wish she does not air her dirty linen in public.

Options:

1. v to talk about private matters in public

2. * hanging out clothes outside
3. *» someone who always complains
4. = someone who is always ready to fight

Question Number : 122 Question Id : 9983677558 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the meaning of the underlined

idiom.

Whenever Tanisha comes home she complains about her

mother. | wish she does not air her dirty linen in public.

Options:

1. v to talk about private matters in public

2. * hanging out clothes outside



3. * someone who always complains

4. = someone who Is always ready to fight

Question Number : 123 Question Id : 9983677559 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that will improve the underlined part of the
sentence. In case there 1s no improvement needed then select
‘No improvement’ option.

When I was young, I was afraid from dogs.

Options:

1. = afraid with

2. v afraid of

3. » afraid by

4. = no improvement

Question Number : 123 Question Id : 9983677559 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that will improve the underlined part of the
sentence. In case there Is no improvement needed then

select ‘No improvement’ option.

When | was young, | was afraid from dogs.

Options:

1. = afraid with
2. v afraid of
3. * afraid by

4. * no Improvement



Question Number : 124 Question Id : 9983677560 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that will improve the underlined part of the
sentence. In case there 1s no improvement needed then select
‘No improvement’ option.

I will be happy to get rid of these clothes.

Options:

1. = get rid from

2. = get rid by

3. = get rid off

4. v no improvement

Question Number : 124 Question Id : 9983677560 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Select the option that will improve the underlined part of the
sentence. In case there Is no improvement needed then

select ‘No improvement’ option.

| will be happy to get rid of these clothes.

Options:

1. = get nd from
2. % get rid by
3. = get nd off

4. v no iImprovement

Question Number : 125 Question Id : 9983677561 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the option that is one word substitution for the given
phrase.

One who knows everything.

Options:

1. * omnipresent
2. = omnipotent
3. = omnivorous
4. v omniscient

Question Number : 125 Question Id : 9983677561 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that i1s one word substitution for the

given phrase.

One who knows everything.

Options:

1. * omnipresent
2. * omnipotent
3. ®* omnivorous

4. v omniscient

Question Number : 126 Question Id : 9983677562 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

American and European met at restaurant.

Options:

1. *» an, an, a



2.van,a, a
3. % @a,an, a
4. = an, an, the

Question Number : 126 Question Id : 9983677562 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

American and European met at

restaurant.

Options:

1. = an, an, a
2. ¥ an, a, a
3. %= @, an, a
4. = an, an, the

Question Number : 127 Question Id : 9983677563 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

The days seemed endless and nights were even longer.
We travelled through incredibly beautiful landscape
and came to one of largest lakes, Nam Tso.

Options:

1. ¢« the, an, the

2. = the, a, a

3. = g, an, the
4, = the a, an

Question Number : 127 Question Id : 9983677563 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

The days seemed endless and nights were even
longer. We travelled through incredibly beautiful
landscape and came to one of largest lakes, Nam
Tso.

Options:

1. ¢ the, an, the
2. = the, a, a
3. ® a, an, the
4. = the a, an

Question Number : 128 Question Id : 9983677564 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

We are the hospital to see a friend who has been
the hospital Monday.
Options:

1. = before, in, from
2. = into, at, for
3. v at, in, since
4, = at, at, from

Question Number : 128 Question Id : 9983677564 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the correct option to fill in the blanks.

We are the hospital to see a friend who has been

the hospital Monday.

Options:

1. = before, in, from
2. = Into, at, for
3. ¢ at, In, since
4. = at, at, from

Question Number : 129 Question Id : 9983677565 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

He placed his hand the table, resting his elbows
it, and spoke the problem calmly.

Options:

1. = above, in, about
2. v over, upon, about
3. = under, upon, for
4, = over, under, after

Question Number : 129 Question Id : 9983677565 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

He placed his hand the table, resting his elbows

it, and spoke the problem calmly.

Options:



1. = above, In, about
2. v over, upon, about
3. = under, upon, for
4. = over, under, after

Question Number : 130 Question Id : 9983677566 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

Between and , is the more sensible one.

Options:

1. = his, her, she
2. v him, her, she

3. = him, she, she
4, = he, she, she

Question Number : 130 Question Id : 9983677566 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Choose the correct option to fill in the blanks.

Between and : IS the more sensible

one.

Options:

1. = his, her, she
2. ¥ him, her, she
3. = him, she, she
4. = he, she, she

Question Number : 131 Question Id : 9983677567 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

Rani came to house, while Gaurav went to and
the twins went to

Options:

1. = mine, his, their
2. ® ours, their, their
3. = our, his, hers

4. v our, his, theirs

Question Number : 131 Question Id : 9983677567 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

Ranl came to house, while Gaurav went to

and the twins went to

Options:

1. = mine, his, their
2. = ours, their, their
3. = our, his, hers
4, ¢ our, his, theirs

Question Number : 132 Question Id : 9983677568 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

I was born abroad, my mother my father
were born in India.

Options:



1. = However, either, or

2. v Although, both, and

3. = Although, instead, and
4, = Since, both, and

Question Number : 132 Question Id : 9983677568 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

| was born abroad, my mother

father were born in India.

Options:

1. = However, either, or
2. v Although, both, and
3. = Although, instead, and
4. = Since, both, and

Question Number : 133 Question 1d : 9983677569 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

Umesh is a person likes to do his work honestly,
anyone else likes it not.
Options:

1. ¥ who, whether, or
2. » whom, if, or

3. = who, if, or

4. » who, whether, and

Question Number : 133 Question 1d : 9983677569 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

Umesh I1s a person likes to do his work honestly,

anyone else likes it not.

Options:

1. v who, whether, or
2. = whom, If, or

3. = who, If, or

4, = who, whether, and

Question Number : 134 Question Id : 9983677570 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

Is or bothering you? I can do to help you.

Options:

1. = none, no one, something

2. = some, anyone, anything
3. v someone, anyone, something
4. = somebody, nobody, some

Question Number : 134 Question Id : 9983677570 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

s or bothering you? | can do to

help you.

Options:



1. * none, no one, something

2. *» some, anyone, anything

3. v someone, anyone, something
4,

* somebody, nobody, some

Question Number : 135 Question Id : 9983677571 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the correct option to fill in the blanks.

Bring me nuts, ginger and sugar.

Options:

1. = much, a few, some
2. * many, few, much

3. % a little, many, some
4, v some, lots of, a little

Question Number : 135 Question Id : 9983677571 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Choose the correct option to fill in the blanks.

Bring me nuts, ginger and sugar.

Options:

1. = much, a few, some
2. * many, few, much
3. = a little, many, some

4. v some, lots of, a little

Question Number : 136 Question Id : 9983677572 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the option which is the correct passive form of the
given sentence :

People thought that the earth was flat.

Options:

1. v It was thought by the people that the earth was flat.

2. = It 1s thought by the people that the earth was flat.

3. = It is thought by the people that the earth is flat.

4. = It had been thought by the people that the earth was flat.

Question Number : 136 Question Id : 9983677572 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the correct passive form of the

glven sentence :

People thought that the earth was flat.

Options:

1. v It was thought by the people that the earth was flat.
2. = |t 1s thought by the people that the earth was flat.
3. = [t 1s thought by the people that the earth I1s flat.

4. = |t had been thought by the people that the earth was
flat.

Question Number : 137 Question Id : 9983677573 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the option which is the correct indirect form of the
given sentence :

My mother said, “I am going to be the chief guest for the
function tomorrow.”

Options:
1. = My mother announced that she is going to be the chief
guest for the function the next day.

2. v My mother announced that she was going to be the chief
guest for the function the next day.

3. » My mother announced that she was going to be the chief
guest for the function tomorrow.

4. = My mother announced that I was going to be the chief
guest for the function the next day.

Question Number : 137 Question Id : 9983677573 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the correct indirect form of the

given sentence :

My mother said, “| am going to be the chief guest for the

function tomorrow.”

Options:

1. = My mother announced that she Is going to be the

chief guest for the function the next day.

2. v My mother announced that she was going to be the

chief guest for the function the next day.



3. * My mother announced that she was going to be the

chief guest for the function tomorrow.

4, = My mother announced that | was going to be the chief

guest for the function the next day.

Question Number : 138 Question Id : 9983677574 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Choose the option that is the correct order of this jJumbled
sentence.

would apologize/I had/that he/foolishly hoped

Options:

1. * I would apologize had foolishly hoped he that.
2. v I had foolishly hoped that he would apologize.
3. = That he would apologize foolishly I had hoped.
4. = T had he would foolishly hoped that apologize.

Question Number : 138 Question Id : 9983677574 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Choose the option that 1s the correct order of this jumbled

sentence.

would apologize/l hadfthat heffoolishly hoped

Options:

1. = | would apologize had foolishly hoped he that.
2. v | had foolishly hoped that he would apologize.
3. = That he would apologize foolishly | had hoped.
4. = | had he would foolishly hoped that apologize.



Question Number : 139 Question Id : 9983677575 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct order of this jumbled
sentence :

we are/meeting you/all looking/forward to

Options:

1. = We are meeting you all looking forward to.
2. = All looking forward to meeting you we are.
3. » We are all looking meeting you forward to.
4. v We are all looking forward to meeting you.

Question Number : 139 Question Id : 9983677575 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that 1s the correct order of this jumbled

sentence .

we arefmeeting you/all looking/forward to

Options:

1. = We are meeting you all looking forward to.
2. % All looking forward to meeting you we are.
3. = We are all looking meeting you forward to.
4,

v We are all looking forward to meeting you.

Question Number : 140 Question Id : 9983677576 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that is the correct order of this jJumbled
sentence :

Please raise/ to the mountain/ to go/if you want/your hands

Options:



1. = Please raise if you want to go your hands to the mountain.
2. v Please raise your hands if you want to go to the mountain.
3. = Please raise your hands to go to the mountain if you want.
4. = Please raise your hands to the mountain. if you want to go

Question Number : 140 Question Id : 9983677576 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option that 1s the correct order of this jumbled

sentence

Please raise/ to the mountain/ to go/if you want/your hands

Options:

1. = Please raise If you want to go your hands to the

mountain.

2. v Please raise your hands if you want to go to the

mountain.

3. » Please raise your hands to go to the mountain If you

want.

4. = Please raise your hands to the mountain. If you want

to go
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Question Number : 141 Question Id : 9983677577 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the synonym of the given word :

embed

Options:

1. = pull out
2. v Insert
3. = dig out
4. = divert

Question Number : 141 Question Id : 9983677577 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which Is the synonym of the given word

embed

Options:

1. = pull out



2. v Insert
3. = dig out
4. = divert

Question Number : 142 Question Id : 9983677578 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the synonym of the given word :

fortify

Options:

1. v strengthen
2. » formulate
3. = weaken

4. = fasten

Question Number : 142 Question Id : 9983677578 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the synonym of the given word :

fortify

Options:

1. v strengthen
2. = formulate
3. % weaken

4. = fasten

Question Number : 143 Question Id : 9983677579 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the option which is the synonym of the given word :

adhere

Options:

1. = complicate
2. *» abandon
3. v comply

4. = ignore

Question Number : 143 Question Id : 9983677579 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the synonym of the given word :

adhere

Options:

1. = complicate
2. = abandon
3. v comply

4. = 1gnore

Question Number : 144 Question Id : 9983677580 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the synonym of the given word :

decadence

Options:

1. = Improvement
2. = development
3. v degeneration



4. = rise

Question Number : 144 Question Id : 9983677580 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the synonym of the given word :

decadence

Options:

1. = improvement
2. = development
3. v degeneration
4, = rise

Question Number : 145 Question 1d : 9983677581 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the synonym of the given word :

erode

Options:

1. = preserve

2. v disintegrate
3. = rebuild

4. » restore

Question Number : 145 Question Id : 9983677581 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the synonym of the given word :

erode

Options:



1. = preserve
2. v disintegrate
3. = rebuild
4. = restore

Question Number : 146 Question Id : 9983677582 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the antonym of the given word

iInception
Options:

1. = commencement
2. v end
3. ® growth

4. = precedence

Question Number : 146 Question Id : 9983677582 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the antonym of the given word :

inception
Options:

1. * commencement
2. v end

3. = growth

4. = precedence

Question Number : 147 Question 1d : 9983677583 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Choose the option which is the antonym of the given word :

buoyant

Options:

1. = bouncy
2. = resilient
3. » quick
4. v heavy

Question Number : 147 Question Id : 9983677583 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the antonym of the given word :

buoyant

Options:

1. = bouncy
2. = resilient
3. = quick
4. v heavy

Question Number : 148 Question Id : 9983677584 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the antonym of the given word :

occult

Options:

1. v natural
2. = supernatural
3. = mystery



4, = magic

Question Number : 148 Question Id : 9983677584 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the antonym of the given word :

occult

Options:

1. v natural

2. » supernatural
3. = mystery

4, %= magic

Question Number : 149 Question Id : 9983677585 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the antonym of the given word :

cynical
Options:

1. = doubtful
2. = mocking
3. v trusting
4, = dishelieving

Question Number : 149 Question Id : 9983677585 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the antonym of the given word :

cynical

Options:



1. = doubtful
2. = mocking
3. v trusting
4. = disbelieving

Question Number : 150 Question Id : 9983677586 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Choose the option which is the antonym of the given word :

devious

Options:

1. = insincere
2. #» Crooked
3. = evasive
4. v forthright

Question Number : 150 Question Id : 9983677586 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

Choose the option which is the antonym of the given word :

devious

Options:

1. = Insincere
2. = crooked
3. % evasive

4, v forthright
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Question Shuffling Allowed : Yes

Question Id : 9983677587 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (151 to 155)

Question Label : Comprehension



Read the following passage and answer the questions that
follow:

There seems to be a lot of talk these days about what is fair,
and what is not. We clearly have no choice about how we
come into this world, we have little choice early in life, but as
we grow older choices abound. I have long believed that
while we have no control over the beginning of our life, the
overwhelming majority of us have the ability to influernce the
outcomes we attain. Fair is a state of mind, and most often, an
unhealthy state of mind.

In business, in politics, and in life, most of us are beneficiaries
of the outcomes we have contributed te. Our station in life
cannot, or at least should not, be blamed on our parents, our
teachers, our pastors, our government, or our society — it’s
largely based on the choices we make, and the attitudes we
adopt. People have overcome poverty, drug addiction,
incarceration, abuse, divorce, mental illness, victimization,
and virtually every challenge known to man. Life is full of
examples of the uneducated, the mentally and physically
challenged, people born into war-torn impoverished
bhackgrounds, who could have complained about life being
unfair, but who instead chose a different path — they chose to
overcome the odds and to leave the world better than they
found it. Regardless of the challenges they faced, they had the
character to choose contribution over complaint.

I dor’t dispute that challenges exist. I don’t even dispute that
many have an uphill battle due to the severity of the
challenges they face. What I vehemently dispute is attempting
to regulate, adjudicate, or legislate fairness somehow solves
the world’s problems. Mandates don’t create fairness, but
people’s desire and determination can work around or
overcome most life challenges.

It’s not the circumstances by which you come into this world,
but what you make of them once you arrive that matter. One
of my clients came to this country from Africa in his late
teens, barely spoke the language, drove a cab while working
his way through college, and is now the president of a large
technology services firm. Stories such as this are all around us
— they are not miracles, nor are they the rare exception. They
do however demonstrate blindness to the mindset of the
fairness doctrine.

We all face challenges, and life treats us all unfairly.. When I
suffered a debilitating stroke at an early age, I certainly asked
myself “why did this happen to me?” I could have felt sorry
for myself and became bitter, I could have thrown in the
towel and quit on my family and myself — I didn’t. It took
two years of gut-wrenching effort, but what I thought was a
great injustice at the time changed my life for the better.
Today, you couldn’t tell I ever had a stroke. The greatest
adversity life can throw at you simply affords you an
opportunity to make changes, improve, and get better.



Sub questions

Question Number : 151 Question Id : 9983677588 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does the writer think about ‘fair’?

Options:

1. v It is a matter of attitude.

2. » It is a matter of fate.

3. = we have control over it.

4. = It is what our parents taught us.

Question Number : 152 Question Id : 9983677589 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Contribution over complaint’ means:

Options:

1. = using both fair and unfair means
2. v being useful despite all odds

3. = wealth over poverty

4. = fight for fairness

Question Number : 153 Question 1d : 9983677590 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the writer which of these is important?

Options:

1. = family one Is born into

2. = upbringing during childhood

3. #= contribution of teachers, govt and society
4. v What one makes of one’s circumstances

Question Number : 154 Question 1d : 9983677591 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Throw in the towel’ means;:

Options:

1. = stand up and face the situation



2. = run away from the situation
3. = spend time considering the course of action
4. v give up and admit defeat

Question Number : 155 Question Id : 9983677592 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Today, you couldn’t tell if I ever had a stroke’ from this we
can infer that the writer:

Options:

1. = considered the stroke early in life very unfair
2. = blamed his family and his fate for the stroke
3. v used the adverse situation as an opportunity
4. » made a choice that he regretted in life

Question Id : 9983677587 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (151 to 155)

Question Label : Comprehension



Read the following passage and answer the questions that

follow:

There seems to be a lot of talk these days about what is
fair, and what is not. We clearly have no choice about how
we come into this world, we have little choice early in life,
but as we grow older choices abound. | have long believed
that while we have no control over the beginning of our life,
the overwhelming majority of us have the ability to influence
the outcomes we attain. Fair is a state of mind, and most

often, an unhealthy state of mind.

In business, in politics, and in life, most of us are
beneficiaries of the outcomes we have contributed to. Cur
station in life cannot, or at least should not, be blamed on
our parents, our teachers, our pastors, our government, or
our society — it's largely based on the choices we make,
and the attitudes we adopt. People have overcome poverty,
drug addiction, incarceration, abuse, divorce, mental illness,
victimization, and virtually every challenge known to man.
Life is full of examples of the uneducated, the mentally and
physically challenged, people born into war-torn
impoverished backgrounds, who could have complained
about life being unfair, but who instead chose a different
path — they chose to overcome the odds and to leave the
world better than they found it. Regardless of the challenges
they faced, they had the character to choose contribution

over complaint.

| dont dispute that challenges exist. | don’t even dispute
that many have an uphill battle due to the severity of the
challenges they face. What | vehemently dispute is
attempting to regulate, adjudicate, or legislate fairness
somehow solves the world’s problems. Mandates don’t
create fairness, but people’s desire and determination can

work around or overcome most life challenges.

[t's not the circumstances by which you come into this
world, but what you make of them once you arrive that
matter. One of my clients came to this country from Africa
in his late teens, barely spcke the language, drove a cab
while working his way through college, and is now the
president of a large technology services firm. Stories such
as this are all around us — they are not miracles, nor are
they the rare exception. They do however demonstrate

blindness to the mindset of the fairness doctrine.

We all face challenges, and life treats us all unfairly.. When
| suffered a debilitating stroke at an early age, | certainly
asked myself “why did this happen to me?” | could have
felt sorry for myself and became bitter, | could have thrown
in the towel and quit on my family and myself — | didnt. It
took two years of gut-wrenching effort, but what | thought
was a great injustice at the time changed my life for the
better. Today, you couldn’t tell | ever had a stroke. The
greatest adversity life can throw at you simply affords you

an opportunity to make changes, improve, and get better.



Sub questions

Question Number : 151 Question Id : 9983677588 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

What does the writer think about ‘fair’?

Options:

1. v It iIs a matter of attitude.
2. # |t is a matter of fate.
3. = we have control over It.

4. = It 1s what our parents taught us.

Question Number : 152 Question Id : 9983677589 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Contribution over complaint’ means:

Options:

1. = using both fair and unfair means
2. v being useful despite all odds
3. ® wealth over poverty

4. = fight for fairness

Question Number : 153 Question Id : 9983677590 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

According to the writer which of these is important?

Options:

1. = family one is born Into
2. ® upbringing during childhood
3. = contribution of teachers, govt and society

4. v What one makes of one’s circumstances

Question Number : 154 Question Id : 9983677591 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



‘Throw In the towel’ means:

Options:

1. = stand up and face the situation
2. = run away from the situation
3. = spend time considering the course of action

4. v give up and admit defeat

Question Number : 155 Question 1d : 9983677592 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“Today, you couldn’t tell if | ever had a stroke’ from this we

can Infer that the writer:

Options:

1. = considered the stroke early In life very unfair
2. = blamed his family and his fate for the stroke
3. v used the adverse situation as an opportunity
4

* made a choice that he regretted in life

Sub-Section Number: 3
Sub-Section Id: 998367476
Question Shuffling Allowed : Yes

Question Id : 9983677593 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



Read the following passage and answer the questions that
follow :

One of the talks from the TEDZ2 stage in Long Beach, Calif,, this
week came from Richard Turere, an inventor. He is a Maasai
from Kenya. And he’s 13.

“From ages 6 1o 9, I started looking after my father’s cows,”
Richard says. “I'd take them out in the morning and bring
them back in the evening. We put them in a small cow shed at
night,” and that’s when the trouble would start. Lions would
jump in the shed and kill the cows, which are enclosed and
an easy target.

Lions are the top tourist attraction to Kenya, especially in the
Nairobi National Park, which is near where Richard lives.
Lions are also considered critically endangered in Kenya. The
Kenya Wildlife Service estimates there are just 2,000 lions left
in the country. One of the main causes of their demise, “is
that people kill them in retaliation for lions attacking their
livestock,” says Paula Kahumbu, executive director of Wildlife
Direct, a wildlife conservation organization in Africa.

She has been studying the conflict between humans and lions,
and her work led her to Richard. In one week, she monitored
over 50 cases where lions attacked livestock. “It’s a very, very
serious problem,” she says.

One night he was walking around with a flashlight and
discovered the lions were scared of a moving light. A light
went on inside him and an idea was horn.

Three weeks and much tinkering later, Richard had invented
a system of lights that flash around the cow shed, mimicking
a human walking around with a flashlight. His systemn is
made from broken flashlight parts and an indicator box from
a motorcycle.

“The only thing I bought was a solar panel,” which charges a
hattery that supplies power to the lights at night, Richard
says. He calls the system Lion Lights.

“There have been a lot of efforts to try to protect the lions,”
Kahumbu says. “It’s a crisis and everyone is looking for a
solution. One idea was land leases, another was lion-proof
fences. And basically no one even knew that Richard had
already come up with something that worked.”

His simple solution was so successful, his neighbors heard
about it and wanted Lion Lights, too. He installed the lights
for them and for six other homes in his community. From
there, the lights spread and are now being used all around
Kenya. Someone in India is trying them out for tigers. In
Zambia and Tanzania they’re being used, as well.

To get to the TED stage, Richard traveled on an airplane for
the first time in his life. He says he has a lot to tell his friends
about when he goes back home, and among the scholars and
prize winners, scientists and poets, what impressed him the
most on his trip was something he saw at the nearby
Aquarium of the Pacific: “It was my first time seeing a shark. I’
ve never seen a shark.



Sub questions

Question Number : 156 Question Id : 9983677594 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Why were the cows an easy target?

Options:

1. = They were not as fast as the lions.

2. v There was no way to escape from the enclosure.

3. * They were too scared to escape.

4. = They did not know that the lions would attack them.

Question Number : 157 Question Id : 9983677595 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“It is a very serious problem.” What problem is being referred
to here?

Options:

1. = people killing the lions

2. v lions attacking the livestock

3. » lions becoming endangered

4. = lions being the top tourist attraction

Question Number : 158 Question Id : 9983677596 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

What are lion lights?

Options:

1. = powerful lights to frighten the lions

2. = lights in the cowshed

3. v lights that seem like humans with flash lights

4, = lights that show the movements of the lions at night.

Question Number : 159 Question Id : 9983677597 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘the lights spread’ means:

Options:



1. ¥ The lion lights started being used in many countries.
2. = The light from the lion lights covered a large area.

3. = The lights lit six other homes in Richard’s community.
4. = The lights helped Richard travel at night.

Question Number : 160 Question Id : 9983677598 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these qualities i1s NOT applicable to Richard?

Options:

1. = simple

2. = enterprising
3. » creative

4. v complacent

Question Id : 9983677593 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (156 to 160)

Question Label : Comprehension



Read the following passage and answer the questions that

follow :

One of the talks from the TED2 stage in Long Beach,
Calif., this week came from Richard Turere, an inventor. He
is a Maasai from Kenya. And he’s 13.

“From ages 6 to 9, | started looking after my father’s
cows,” Richard says. *“I'd take them out in the morning and
bring them back in the evening. We put them in a small
cow shed at night,” and that’s when the trouble would start.
Lions would jump in the shed and kill the cows, which are

enclosed and an easy target.

Lions are the top tourist attraction to Kenya, especially in
the Nairobi National Park, which is near where Richard
lives. Lions are also considered critically endangered in
Kenya. The Kenya Wildlife Service estimates there are just
2,000 lions left in the country. One of the main causes of
their demise, “is that people kill them in retaliation for lions
attacking their livestock,” says Paula Kahumbu, executive
director of Wildlife Direct, a wildlife conservation organization

in Africa.

She has been studying the conflict between humans and
lions, and her work led her to Richard. In one week, she
monitored over 50 cases where lions attacked livestock. “It's
a very, very serious problem,” she says.

One night he was walking around with a flashlight and
discovered the licns were scared of a moving light. A light
went on inside him and an idea was born.

Three weeks and much tinkering later, Richard had invented
a system of lights that flash around the cow shed,
mimicking a human walking around with a flashlight. His
system is made from broken flashlight parts and an
indicator box from a motorcycle.

“The only thing | bought was a solar panel,” which charges
a battery that supplies power to the lights at night, Richard
says. He calls the system Lion Lights.

“There have been a lot of efforts to try to protect the lions,”
Kahumbu says. “It's a crisis and everyone is looking for a
sclution. One idea was land leases, another was lion-proof
fences. And basically no one even knew that Richard had

already come up with something that worked.”

His simple solution was so successful, his neighbors heard
about it and wanted Lion Lights, too. He installed the lights
for them and for six other homes in his community. From
there, the lights spread and are now being used all around
Kenya. Scmecne in India is trying them out for tigers. In
Zambia and Tanzania they’re being used, as well.

To get to the TED stage, Richard traveled on an airplane
for the first time in his life. He says he has a lot to tell his
friends about when he gces back home, and amcng the
scholars and prize winners, scientists and poets, what
impressed him the most on his trip was something he saw
at the nearby Aquarium of the Pacific: “It was my first time

seeing a shark. I've never seen a shark.



Sub questions

Question Number : 156 Question Id : 9983677594 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Why were the cows an easy target?

Options:

1. = They were not as fast as the lions.
2. v There was no way to escape from the enclosure.
3. » They were too scared to escape.

4. = They did not know that the lions would attack them.

Question Number : 157 Question Id : 9983677595 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“It 1Is a very serious problem.” What problem is being

referred to here?

Options:

1. = people killing the lions
2. v lions attacking the livestock
3. #= lions becoming endangered

4. = lions being the top tourist attraction

Question Number : 158 Question Id : 9983677596 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

What are lion lights?

Options:

1. = powerful lights to frighten the lions
2. = lights In the cowshed
3. v lights that seem like humans with flash lights

4. = lights that show the movements of the lions at night.



Question Number : 159 Question Id : 9983677597 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘the lights spread’ means:

Options:

1. v The lion lights started being used In many countries.
2. » The light from the lion lights covered a large area.
3. * The lights lit six other homes In Richard’s community.

4. = The lights helped Richard travel at night.

Question Number : 160 Question Id : 9983677598 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Which of these qualities 1s NOT applicable to Richard?

Options:

1. = simple
2. = enterprising
3. = creative

4. v complacent
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Section 1d : 998367331

Section Number : 1

Section type: Online

Mandatory or Optional: Mandatory

Number of Questions: 20

Number of Questionsto be attempted: 20

Section Marks: 20
Sub-Section Number: 1
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Question Shuffling Allowed : Yes

Question Number : 161 Question Id : 9983677599 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

IR HAT SET, 57

Options:

1. v Tacsit
2. % TONT
3. % degd
4, % JcqgH

Question Number : 161 Question Id : 9983677599 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TR HAT oo &7

Options:

1. v Tagei
2. % qerel
3. « dzd
4, = TeTA

Question Number : 162 Question Id : 9983677600 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

9 & T DI 9T 2Tec, dogel g7

Options:

1. % TH
2. % T,



3. v ddAT

4, % Tuf

Question Number : 162 Question Id : 9983677600 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

o § O Hid T o5 did &7

Options:

1. = sh

Question Number : 163 Question Id : 9983677601 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Mg & T DI 9T e Tcgu g7

Options:

1. = 519
2. % g
3. = T

4. v Ugt

Question Number : 163 Question Id : 9983677601 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

foT # & T IOT s dcaH &7

Options:

1. = ATH
2. = g

3. & O
4., v TET

Question Number : 164 Question Id : 9983677602 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



g & g ad=t aretT e 3

Options:

1. * YRHT®H
2. v TRH®H
3. = WRMA®
4. » YIATH

Question Number : 164 Question Id : 9983677602 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

fareT & g acell arelr ersg &:

Options:

1. = UeTR
2. v YRi#=+
3. » Wi
4. » gTHATR

Question Number : 165 Question Id : 9983677603 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘3G — 3fer gre JTH BT T 31 B

Options:

Question Number : 165 Question Id : 9983677603 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘3T - 37T o5 IIH KT HEl 39 &

Options:

1. = T@EAT - el
2. v HhedT - TBEar




3. % el - HIOT
4, = HFYT - FEar

Question Number : 166 Question Id : 9983677604 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T [T TPhR DI GAT 37

Options:

1. = qThaTd

2. % HATTdeTId

3. » TaTIdarI®
4, v I h

Question Number : 166 Question Id : 9983677604 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ILAT Tohg TP hT TaAT &7

1. % =YTFdardeh

=

2. = Slddrdeh

4. v HATTgIR

Question Number : 167 Question Id : 9983677605 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

‘UG FeATH T J[UTerT<reh Tereryor g2

Options:

1. v T4ET
2. % agT
3. % 3q-T
4, = 3T

Question Number : 167 Question Id : 9983677605 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



U TIATH FT I0ETa [IIvor §7?

Options:

1. v QT
2. % o
3. ® Sl
4. = 3ol

Question Number : 168 Question 1d : 9983677606 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

MM 6 TR T fareyor 27

Options:

1. * QA-TAD
2. % GEATATID

3. v TUreT®
4, = ICHATI gTefeh

Question Number : 168 Question Id : 9983677606 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘HEMAT [FT TR 1 [Feyor &7

Options:

1. % HEeldeh

2. = HEAETIF

3. ¢ J0TdIde<h
ot

4. » ORLATOT ST

Question Number : 169 Question Id : 9983677607 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g # wumelen foham B

Options:

1. » THABAT
2. v GASET



3. % @
4, % ¢AT

Question Number : 169 Question Id : 9983677607 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Question Number : 170 Question Id : 9983677608 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AZ P 3T HUT Gt B ol g1’ ATTT | TohdT Ter o g

Options:

1. * g BH
2. = 3T

3. v T At
4, » T IPd &

Question Number : 170 Question Id : 9983677608 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UG HTH T FAT T T Tohd &1 ag H THar @ewor &

Options:

1. = Ig hTH

2. % M9
3. v AT AT

4, = &L hd &

Question Number : 171 Question Id : 9983677609 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T T G Rrede A

1. % G+ dI0
2. % QT + A1
3. % g + qiy
4. v GH +

Question Number : 171 Question Id : 9983677609 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25
(- 1 .
pl Hia iaz@:a Ea;|3||:

Options:

1. = Fel + AN
2. = Hel + AV
3. « §H + dIY
4. v GH + AW

Question Number : 172 Question Id : 9983677610 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

YERTGE | I 9T JATT 32

Options:

1. v 9g4lig

Z. % qcqey

3. % g%

4. % eI

Question Number : 172 Question Id : 9983677610 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HERTETH H Hiel T TAE g7

Options:
1. v Sgallg
]

2. % Jcusy
3. % Zded
4.

Question Number : 173 Question Id : 9983677611 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

e H Tehd JUHT T YT g3 37

Options:

1. =7



2. % T
3. v
4. % gd_

Question Number : 173 Question Id : 9983677611 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TrEcTe H R STt T e g3 87

Options:

1. = 0
2. » W
3. v T
4. = gda

Question Number : 174 Question Id : 9983677612 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T # Tehg UeZ &7 TN §3T 32

Options:

1. =4d

2. v 3SH
3. % O

4. % 31

Question Number : 174 Question Id : 9983677612 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘A F T IcdT T 90T §31T%’?

Options:

1. = H

2. v SH
3. = @IF

4., = 3




Question Number : 175 Question Id : 9983677613 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

g & T @l IGT 2re; STl 32

Options:

1. v hUIT
2. % ®elg
3. « diad
4, % thdd

Question Number : 175 Question Id : 9983677613 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tl # & shia &1 e EHolar §7

Options:

1. v _EIT

2. = Fholg
3. % Fidcd

4. = Shad

Question Number : 176 Question Id : 9983677614 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

FA gt AT Th’ [ Uea=e BT ISTEL 72

Options:

1. = ToRdT Uca=er
2. * TaUUr ygEwe
3. % YT Uca=2
4. v 9T U4

Question Number : 176 Question Id : 9983677614 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Tdal Ul ATl STTad’ [ohd Ieaed ol 3ol &7

Options:

1. % TohdT Ucsey




2. » TAQINUT Ucseel

3. » HAdATH YcsedT

4. v AT YaeT

Question Number : 177 Question Id : 9983677615 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘STgT ol BT &, AT WloT 3T gIdT 31’ aATqT # STET AWl gidl 3 g
I T JUCITFT 37

Options:

1. v TohaT AT IuaTad
2. % TSIy IyeTay

3. = TohaT IUaTIFT

4. % AT 3TATFT

Question Number : 177 Question Id : 9983677615 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘STl guT 8T &, J&l Wl 37T alar g1” arsg H STar ast
gidr & " YR & 39aray g7

Options:

1. v TopaT TQQNUT 3UgTery
2. » TaeINUT 3Ugrera

3. » TopdT 3UQTRT
4.

« AT 3UdTer

Question Number : 178 Question Id : 9983677616 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 WrongMarks: 0.25

‘I GHET GHT 3R IGeht W@ THE T’ v TehIL ol arerg g2

Options:

1. # 3UATFT
2. % Yol T
3. = THY aTaT




4. v GYh ATFY

Question Number : 178 Question 1d : 9983677616 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

I FT TRT AT 3R @ A T 78 R -1 a3

&7

Options:

1. = 39drFg

2. * lol Iy

3. = T8y greg

4. v chrd GIERS

Question Number : 179 Question Id : 9983677617 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

UCshH <l S8 & I &1 o1 Y 87

Options:

1. * 3TV FTSD dleld g HI-¢i]
2. v 3TV wd TR-4R et gl
3. » g dield § 3d el
4, » 3TV TSP YR-GR g dietdl

Question Number : 179 Question Id : 9983677617 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

YeshA HT TCC & HleT AT AT Y B?

Options:

1. % 37T oI5 aleld & dR-4R|
2. v 3T oS dR-d Siela &1
3. = - Seld & 37T dsoh|
4. = 3T T5F TR & e

Question Number : 180 Question Id : 9983677618 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25




3~ag Pl &8 F I AT AT e 87

Options:

1. * Ucdd Aih A1+ AT 3l
2. * YcAP ATk ST A8 gl
3. v YA ek ST ATgaT gl
4. * YA hieh ST aTgar gl

Question Number : 180 Question Id : 9983677618 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

3ead 1 TCE G hiel @7 AHT UG &7

Options:

1. » Ucdsh STTod Siler II8d &1
2. = YUcdeh o Sl A8 &l
3. v U TTeod SilelT ATEdT &l

4, = Yok Tard Silell ATdT ol
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Sub-Section Id: 998367478
Question Shuffling Allowed : Yes

Question Number : 181 Question Id : 9983677619 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘AT T TATIATIT 52

Options:

1. = T@Td
2. % el
3. v UTc<h
4. % gaT

Question Number : 181 Question Id : 9983677619 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘e T TATIGTT &7

1. = f&afa
2. = 3fael
3. v JId<h
4. = dHdl

Question Number : 182 Question 1d : 9983677620 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

T o e o

1. = 99
2. % dgT
3.« gd

4, v ol



Question Number : 182 Question Id : 9983677620 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TF' T qATIATT oTET &
Options:

1. = deld
2. % cafof
3. » gd

4. v deold

Question Number : 183 Question Id : 9983677621 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

A0S’ Thgmr Tl §?

Options:

1.vgd
2. % T,
3.« TG
4, = qIdel

Question Number : 183 Question Id : 9983677621 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1.vgd
2. & Tog

3.
4, = SE

Question Number : 184 Question Id : 9983677622 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Plietwc,” ThaeT TgTemr g?

Options:

1. = TIT



2. v JgT
3. % T
4. % Al

Question Number : 184 Question Id : 9983677622 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Fifoleel’ TRl TITIGRT &7

Options:

1. % 3@

2. v JHAT
2
4, = gIdr
Question Number : 185 Question Id : 9983677623 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1. = U
2. % BGdh
3. = glar
4, v T

Question Number : 185 Question Id : 9983677623 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

1. = Y

2. % Hah
3. % =T
4. v TRIoT



Question Number : 186 Question Id : 9983677624 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘MDD AT ST, 3

Options:

1. » TIEad
2. v ATEdd
3. % TIY®

4. * gl

Question Number : 186 Question Id : 9983677624 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘HITEdR’ T TollH TE &

Options:

1. % TIIEdH

2. v dlEdeh

Question Number : 187 Question Id : 9983677625 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘3T BT TAeITH BT
Options:

1. » 3T0H
2. v U%T
3.« Mg
4.« 3

Question Number : 187 Question Id : 9983677625 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘39 HT [AH O
Options:

1. = AfIHA



2. v e
3. = To&a
4. = 3T

Question Number : 188 Question Id : 9983677626 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘3 RarepT Fre 22

Options:

1. v Ugum
2. % oM
3. = gqur
4, = U

Question Number : 188 Question Id : 9983677626 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Options:

1. v TEIT
2. ® oIl
3. = gyur
4. = HYoT

Question Number : 189 Question Id : 9983677627 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“TIA~AT YIhlddh TURR 31’ Ulh & [iTdhd S BT el g

Options:

1. » S9TTH
2. % =ard
3. = AId®
4, v AT

Question Number : 189 Question Id : 9983677627 Question Type: MCQ Option Shuffling: Yes




Correct Marks: 1 Wrong Marks: 0.25

FIATAAT Ulehideh AR &1 gldd & IW@ferd sg T TolH

Options:

1. = aafi®w
2. » 3feary
3. = ofifaew
4, v FOAH

Question Number : 190 Question Id : 9983677628 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Ffer a7 e 2

Options:

1. » 36l
2. v Hiold
3. = Sfiqer
4, = JUT

Question Number : 190 Question Id : 9983677628 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Toeter &1 faena &:

1. = 3oodd
2. v Hfold
3. = efidel
4, = 30T
Sub-Section Number: 2

Sub-Section 1d: 998367479
Question Shuffling Allowed : Yes



Question Id : 9983677629 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (191 to 195)

Question Label : Comprehension

STl T&d T TETer el Ugehd U8 T4 T[T h Iqa iy

TATH 39 Dgd & A1 [hdl G AT TAT B o417 Bl Bic P 3LTed ddl g
| J2Te Teh Ut TgTe g SIE TehdT W o T FTigcdhie aTgd §U 4T

M TET IR T g 3N eI TId Tgr BT 3 o uiere & g 78 g § of
TATY BT Ta T TUET: aF DT Sol-cof € § 318 I @I TATY el
ST & UTed ®F 0T 3Mher gl died ARG, 8l g, JTEATcHd TH
Uge] SUH FATCIE gl GHTSTATC] IYTYae, STdagTdele, Tpdarc,

TATSE S8 ¥ Sfia ol TP 39 FATY Bl TEY T T S e P
TId o al

Sub questions

Question Number : 191 Question Id : 9983677630 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

RIS T e T AU 3

Options:

1. * 3Mesl
2. % TEUAT
3. v gard
4. » Go g

Question Number : 192 Question Id : 9983677631 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘feJrerd @ 37 &

Options:

1. v IC
2. » TEd
3. % gad

4, = gHT

Question Number : 193 Question Id : 9983677632 Question Type: MCQ Option Shuffling: Yes



Correct Marks: 1 Wrong Marks: 0.25

“TATY” BT 3 gIaT &

Options:
1. * PTeUH®H
2. % CATAGII®
3. » Ygl~dd
4, v qrEqTaD

Question Number : 194 Question Id : 9983677633 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

AT BT 37 2

Options:

1. vIIH

2. % Bcod
3. = Mifaa
4. » ™&AT

Question Number : 195 Question Id : 9983677634 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

“ITeherT BT e ! gidT &

Options:

Question Id : 9983677629 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (191 to 195)

Question Label : Comprehension



sirer & 910 JTETer T Teesht I I Wesll & 3o G’
AT 38 Fgd & ol Rl T AT U&aT Hl Tl Fhic Bic &
3eETied LT g1l Fure Uk UdT geens ¢ fore fandr ot e
FT TIEcTFR ulsé‘g@ﬁmaﬁﬁwﬁﬁmﬁ
TET R & o6 ufean & & a8 9 # o Jured F7 w@w Fel
TUSE: ol AT Sa-gd T H 39T ol GT TATT haed Sildd
& UTgT & T T 3Mholel Al SToch Hed, Siaeh, MEITcHS
gl Uge] 3HA FATGSE &1 FASEE! JUTeare, faardarg,
Yhddle, FellddTedrs, diedcaars g Taead Sae v
ZSEhITT 3Ue-3TalT Tdfese Tfoe & Siidel ol @R 3T

JUTe T IEY FW W TASAA §57e1 1 Tcel L ¢

Sub questions

Question Number : 191 Question Id : 9983677630 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ST T el v &:
Options:

1. = 3
2. % heqdl
3. v T
4. = HeA

Question Number : 192 Question Id : 9983677631 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Felld T 3T &

Options:

1. v 9TEC
2. » faTead




3. = @A
4. % AR

Question Number : 193 Question 1d : 9983677632 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘Fare’ T 37T AT &

Options:

1. = FTeYlaleh
x TYTIETeh

2.
3. » Hglodeh
4.

v grEdah

Question Number : 194 Question Id : 9983677633 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘GHIASS T JT &

1. v =T

2. » 3od
3.
4. » RAET

Question Number : 195 Question Id : 9983677634 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘3Teholel’ T 3727 A&T BT &

Options:




Sub-Section Number: 3
Sub-Section Id: 998367480
Question Shuffling Allowed : Yes

Question Id : 9983677635 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension

Siter T&d T el l UGehd U8 T4 T[T & Iqa Iy

AT UTeq Giiged BT MTEd WS HId g ol dliged § 39 dre-dre
<eh A & GHAD a1 gl AgT dr3cedhl &f e 17 § Ulleq 7 Toi@r 5- ¥
It YIS e o del i ot A1 §l.... g ¥ Fiedr g 1 uase
l T TRICATd AT PrADGATT § 3T Dl h PLAT ANQUT, [AAT T F
ST&d Thd ToINT 3NT oI 31U GIRT STuld WTHTTSIG Sheral T HIar
QAT TATUT UTSd B G dARYET FF § J&qd e & [olq
Haeddg Tal gl UNed = 347 TolaT 3- ‘eiad & aaR Nia=t gu 3@, Pell
T Pid It g1 30T glar gl § g Farefare &t a1q & T g ag oad
T%megl WIRE gTp9 ol 1888 H i@ U &

—gi FATdATe, & o ¥ Toiar 3- AU T ¥, TATAATS, P 37 dwHITel i
TS T, AT TRIEATALT # ST AT T FgTs W TGS 21’ 39 T
T 3 [ TG Ulled PollcHd Givcd i JUT gl Pd| o TeeRIcHd
3TTUE T AT Ped § ol ST Y hivd U AIgll TgT Tal, & el =
ol T RUTRT & 31TeIeh Hgcaqul ATd gl

Sub questions

Question Number : 196 Question Id : 9983677636 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘DIl Pr A g

Options:

1. = gHaT
2. v Tl
3. = U



4, % JHIT:

Question Number : 197 Question Id : 9983677637 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

YA Pr A9 3
Options:

1. v 3T
2. % 3MMYX
3. % @

4, & qqET

Question Number : 198 Question Id : 9983677638 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘AL BT 37 2

Options:

1. % G
2. v ST
3. = Snwuy
4, * Yo

Question Number : 199 Question Id : 9983677639 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

Tled & AJER 98 Pid H FT T€ g7

Options:

1. « TaaRURT &t 3rfv<ait 7 gt
2. * T dt TUT 39<al® gl
3. v foaR BT ¢
4, # GellcHd gl

Question Number : 200 Question Id : 9983677640 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

HTFY YTied Thd 3rTeien Hgeaqui AT g?

Options:

1. % eIl T



2. % TR &t
3. % YIS &l
4. v JATY AT Al

Question Id : 9983677635 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (196 to 200)

Question Label : Comprehension

sire & 910 TEATer T Teeht IS I Wl & 3ca G’

ATFE Taled HI&cT T Toiredd UAleled Aldd & offehe TG
H 30 Oro-O1 sg9d T o TATH dal &l [Heall HIScEeh!
T o o 7 vatew o formm & H Al TS HET R
et fatrdr =t §1.... g & drerar § o v2iete &I &9
gRiTaTa gor FIFeT & 319eT Tl TFd Flell AMBY, FAY
T O dfeia FRd foar 3R ok 319 g@rT afotd ardToleh
<HITAT T ATl UfTETRA® TATYTST Ui & HIH RARRET §9
H U e & AU wdegeg 7gl §1 TWed o a7 foram -
dEh F AR da §9 I, Fell FT Fid 3deT & TS gl
gl # TorT Furdare T ST FT IET § TE AWHR F TECHIUT F
STgelg 33 Heholl &1 ARRE glhald I 1888 # foi@ o7 &
3oaidl TUTIAIE & X # ToEr &- ‘7 9 A&, Iurdare Fr 37T
dBATe shl Tdls T, 3TH IR # 3H IRE hr J<9s
T Jaigolel g1° 0 YRR TUSC & [ AR TIeq FellcH
leed &1 30T 7T | 3 RURYIRIcHS 3 T AT Hld
& olfchel TTAT T ShIHET I ool Jal odol, I T2 ”IFOT Fi
faamamT & i AgcaquT A Bl




Sub questions

Question Number : 196 Question Id : 9983677636 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

‘ST T HT &

Options:

1. = GH
2. v FHT

3. = Y
4., = FHIT:

Question Number : 197 Question Id : 9983677637 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

TRATSTel T 37T &

1. v 3930
2. ® 3TYR
3. % &
4, = cqdEAT

Question Number : 198 Question Id : 9983677638 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

andrel’ T 3T &

Options:

1. = Eddl
2. v ST
3. % eNNUT
4. » geeia

Question Number : 199 Question Id : 9983677639 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25



Taed & AN %S Ffd A a1 ST §?

Options:

1. » TOaaRT shr 3tfecTied o &
2. » [gOR 1 TUse 3foeai=a &l
3. v TR &9 @

4. % FollcHS @I

Question Number : 200 Question 1d : 9983677640 Question Type: MCQ Option Shuffling: Yes
Correct Marks: 1 Wrong Marks: 0.25

ATRE Waled Tord 311k Hgcaqul Aleld 87

Options:

1. = hell =l

2. = TOOYRT &7
3. = UATelel ol

4. v TATY =TT 1




